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10.1
10.1.1
10.1.2
10.1.3

[1]

[1]

58
65
65
67
74
74
76
84
84
85
92
92
93
94
96
96
101
101
101
101
102
102
103
104
105
105
106
106
106
109
109
109
112
127
127
128
128
128
129
130
130
131
131
132
132
134
134
134
135
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139
139
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1.1

1.2

1.3
@

- BOXcroz.en

‘1150 1050
I ! !
B P v b i |
R
I i
‘*rﬁﬁ)ﬁlﬁo 2200 9 000 700
[BEAL : mm]
13 400
B (mm) BL (mm) BR (mm)
21400

FORUMS8




@
LR (m) LF (m) HF (m)
1( ) 0.000 0.000 3.000
1( ) 0.000 0.000 3.000
2( ) 0.000 0.000 3.000
2( ) 0.000 0.000 3.000
( ) 0.000 0.000 3.000
( ) 0.000 0.000 3.000
1 0.000 0.000 3.000
L_F'——J__,LFi
[T
1T
LR:
LF:
HF:
12.070 (m)

FORUMS8




1.4

1.5

1.6
@
D

1 ock
:ock
1 ock
:ock
1 ock

S
1"

(p res
(P peak —

S
1"

(P res =
(p peak =

24
24
24
24
24

: SD345
: SD345

35.00
35.00
50.00
35.00
35.00
50.00

(kN/m?)

24.500

9.800

20.000

21.000

20.000

21.000

20.000

21.000

20.000

21.000

0.20

0.20

0.16

0.16

(N/mm?)
(N/mm?)
(N/mm?)
(N/mm?)
(N/mm?)

FORUMS8



2) 2
1.5000 C. Khe
0.67 C. C. Khe
0.60 Khg = C. Khg
Csy = _t = 0.447 (p. = 3.00)
i1
&)
iy 1
(kN)
Rd Rex RD=Rd+Rex RL RH
1( ) 3000.000 0.000 3000.000 0.000 0.000
1( ) 3000.000 0.000 3000.000 0.000 0.000
2( ) 3000.000 0.000 3000.000 1000.000 0.000
2( ) 3000.000 0.000 3000.000 1000.000 0.000
( ) 3000.000 0.000 3000.000 1500.000
( ) 3000.000 0.000 3000.000 1500.000
Rd
Rex :
RD
RL
RH
2) 2 ( 2)
RD (kN) (kN)
1 3000.000 3040.000 1.00
®
D 1
(kN/m?)
Qd ol |a |b |c
1( ) 0.00 0.00
1( ) 0.00 0.00
2( ) 0.00 10.00 o |o
2( ) 0.00 10.00 |o |o
( ) 0.00
( ) 0.00
11 0.00

FORUMS8



*

®

1.7

TR PY o .
@BENE RS OMBEEE »bEF ORBEE &S
1( ) —
1( ) —
2( ) -
2( ) -
( )
( )
1
Hr (m) HF  (m) Hi  (m)
1( ) 0.000 0.000 0.000
1( ) 2.000 1.000 2.000
2( ) 0.000 0.000 0.000
2( ) 2.000 1.000 2.000
( ) 0.000 0.000 0.000
( ) 2.000 1.000 2.000
11( ) 0.000 0.000 0.000
1 ( ) 2.000 1.000 0.000
)
11.667 11.667
0.000 0.000

FORUMS8




€Y)
D

2)

@

KA:

KA:

1
2
0.000 (m)
21.400 (m)
(kN/m?) ( )
(m
0.000 15.000 0.251 0.251
0.000 15.000 0.354 0.21+0.90 Kh 0.354 0.21+0.90 Kh
( )
( )
cos’(p—86)

coszﬂcos(ﬂ+5)[ 1+J

sin{¢+0)sin(¢p—a) ’
cos(0+8)cos(0—a)
cos?(35. 000-0. 000)

sin(35.000+11. 667) s in(35. 000~ (0. 000) )
c0s’0. 000 cos (0. 000+11. 667) { 1+

0.251

COS2 (

cos (0. 000+11. 667) cos (0. 000~ (0. 000) )

d-6)

coszﬂcos(ﬂ+5)[ 1+J

sin{¢+0)sin(¢p—a) ’
cos(B+0)cos(B—-a)
cos?(35. 000-0. 000)

sin(35.000+11. 667) s in(35. 000~ (0. 000) )
c0s’0. 000 cos (0. 000+11. 667) { 1+

0.251

cos (0. 000+11. 667) cos (0. 000~ (0. 000) )

FORUMS8




D ( ) ( )

1t I 3 8) T FREKEA—/K SRR FEkh OB £7
KEA =0.21 + 0.90kh o)

(4

) %)
N /

0.0 I 1 1 1 I 1 1
0.0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8

7K B kh

DAE TEAHER - [ 500 Hh B 8 HE AR 25 (—R)
2)1E TEM L - i) 5000 Hh Ry 2 48) 11 R (T )
W ER- ) BRoD Tk = 18) HE R 3K

D —REBIER 0 s =70.0° ZRIEBIAEETR 0 s = 48.0°

R 18+ ERBKEA

(
(
(
(

(€H) 0 sl KEA1
2 0 s2 KEA1
1.8
1.9
1.9.1
Cs (kN/m*) 0.000
tang . 0.600
1.9.2
@
(a, B)
c (kN/m?) 1500.00
(0] ) 40.00

FORUMS8



@

(m) (KN/m)
D, o v v HF(m)
1( ) 3.000 0.000 13.2000 20.0000 | 0.000
1( ) 3.000 0.000 13.2000 17.0667 1.000
2( ) 3.000 0.000 13.2000 20.0000 | 0.000
2( ) 3.000 0.000 13.2000 17.0667 1.000
3.000 0.000 13.2000 20.0000 | 0.000
3.000 0.000 13.2000 17.0667 1.000
(m (m) (m
t. tu t. ta t. ta
1( ) 0.000 | 0.000 | 0.000 | 0.000 | 3.000 | 0.000
1( ) 0.000 | 0.000 | 0.000 | 0.000 | 2.000 | 1.000
2( ) 0.000 | 0.000 | 0.000 | 0.000 | 3.000 | 0.000
2( ) 0.000 | 0.000 | 0.000 | 0.000 | 2.000 | 1.000
0.000 | 0.000 | 0.000 | 0.000 | 3.000 | 0.000
0.000 | 0.000 | 0.000 | 0.000 | 2.000 | 1.000

FORUMS8




1.9.3
o

@

Df :

D"¢:
Y -

t, bt
y n,V tlsat:

t, G,
Y ©,Y tsat:

G, b, Gt
y t31y t3sat -

Y ut

(m), Dr = tl+t2

(m
Dr tl+t2 D = t1+t2+t3
(KN/m®)
Y1 =Y
:ylzysatl_yw
(kN/m®)

DKM EERERE & 0 T ORA
vl e tiFy t2 s by t3  ts
D:
2) KL ZFF B D&
(yust—ya) s tutyu s tntyw e toby e ta
D:

v2 =

v2 =

KM RERBANDOEGE
(Vassmva) * b (Y pava) * taty e taty e ts

v2 =

D;
1) KRR BAN DG E
(V tlsat™ Y w) ¢ t1+('y t2sat” Y w) ¢ t2+('y t3sat™ Y w) * 1;iﬂu-'_'y 3 ° tSl
v2 =
D;
m, , ,t, = 0.000
« ). C  (N/m?)
Y u = 23.000, VY uswe = 23.000
m, , ,t, = 0.000
« ), C  (KN/m?)
Y © = 23.000, V wsa = 23.000
(m, , ,t; = 3.000
« ). C  HKN/m)

Y & = 20.000, Y wee = 21.000
¢ HKN/m),y , = 9.800

o E (kN/m*)
196000.000 392000.000
x 10 (N/mm?) 2.500
( - y/n 5.00

FORUMS8
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1.10

1.10.1

1.10.2
€Y)

D

2)

3)
a)

e /B
(m (kN/m?)
1( ) 1.00 1/6 1.5 3.0 2500.000
1( ) 1.00 1/6 1.5 3.0 2500.000
2( ) 1.00 1/6 1.5 3.0 2500.000
2( ) 1.00 1/6 1.5 3.0 2500.000
) 1.50 1/3 1.2 2.0 3750.000
) 1.50 1/3 1.2 2.0 3750.000
B (m)
€ (m), es=Ms/V
Mg : (kN.m)
V (kN)
(N/mm?)
O O« T a T =
1.00 8.000 180.000 0.230 | 1.700
(
(N/mm?)
O c O s T a T =
1.00 8.000 180.000 0.230 | 1.700
1.50 12.000 300.000 0.350 | 2.550
(N/mm?)
O O s T a T =
( 1.00 8.000 180.000 0.230 | 1.700
( 1.25 10.000 225.000 0.290 | 2.130
1.50 12.000 300.000 0.350 | 2.550

FORUMS8
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b)T

4)

5)

(N/mm?)
O O s T a T =
1( ) 1.00 8.000 180.000 0.230 | 1.700
1( ) 1.00 8.000 180.000 0.230 | 1.700
2( ) 1.00 8.000 180.000 0.230 | 1.700
2( ) 1.00 8.000 180.000 0.230 | 1.700
( 1.50 12.000 300.000 0.350 | 2.550
( 1.50 12.000 300.000 0.350 | 2.550
(N/mm?)
O O s T a T =
1( ) 1.00 8.000 180.000 0.230 | 1.700
1( ) 1.00 8.000 180.000 0.230 | 1.700
2( ) 1.00 8.000 180.000 0.230 | 1.700
2( ) 1.00 8.000 180.000 0.230 | 1.700
( 1.50 12.000 300.000 0.350 | 2.550
( 1.50 12.000 300.000 0.350 | 2.550
(N/mm?)
0w 0 .
8.000 180.000
T a:
Ta:

FORUMS8
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2
2.1
(€H)
1)
AI +o k2] ] :L‘ 2 1 ]
1 8 [ I 11
— I__|_| 1
P |
;o |
;o |
;o 1
C N |
’ b Il
P Il
P Il
P Il
. [
_—_— g
4 | |
N d
2)
™ Vi Xi Vi Yi
x x Vi(ma) i vi 1 1 1 1
1 1.050x 1.830x 21.400 41.120 3.175 12.955 | 130.556 | 532.711
2 0.550x 1.130x 21.400 13.300 2.925 14.435 38.903 | 191.987
3 2.200x 10.240x 21.400 482.099 2.600 6.920 | 1253.458 | 3336.126
4 13.400x 1.800x 21.400 516.168 6.700 0.900 | 3458.325 | 464.551
5 0.700x 12.070x 21.400 180.809 13.050 7.835 | 2359.551 | 1416.635
6 9.000x 12.070x  3.200 347.616 8.200 7.835 | 2850.451 | 2723.571
7 10.200x 0.610x 21.400 133.151 8.300 14.175 | 1105.151 | 1887.411
8 1/2x 5.500x 4.583x 0.700 8.823 15.233 12.772 | 134.402 | 112.688
9 5.500x 0.180x 0.700 0.693 16.150 14.390 11.192 9.972
10 15.700x 0.520x 0.700 5.715 11.050 14.740 63.149 84.236
11 1/2x 5.500x 4.583x 0.700 8.823 15.233 12.772 | 134.402 | 112.688
12 5.500x 0.180x 0.700 0.693 16.150 14.390 11.192 9.972
13 15.700x 0.520x 0.700 5.715 11.050 14.740 63.149 84.236
> 1744724 11613.882| 10966.785
X6 =X (Vi Xi)/Z Vi = 11613.882/1744.724 = 6.657 (m)
YG = X (Vi Yi)/Z Vi = 10966.785/1744.724 = 6.286 (m)
@)
1)
I ] I 2 ] I ]
: H r Ilj 4 I H r
| I b i
—L4 I —L4 I — I
I I Il I I Il I I I
I I I I I I I I I
I I I I I I I I I
I I I I I I I I I
I I I I I I I I I
I I I I I I I | I
I I I I I I I | I
I I I I | I I | I
I I I I | I I | I
I | I I | I I | I
I | I I | I I | I
I | I I | I I | I
I I I I | I I | I
B I I i
i | J_I i | J_i J J._i
I I |

FORUMS8
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2)
™ Vi Xi Vi Yi
N Vi () . - i Xi i Yi
1 10.200x 0.520x 21.400 113.506 8.300 14.740 | 942.097 | 1673.074
2 - 10.200x 0.520x 0.700 -3.713 8.300 14.740 | -30.816 | -54.726
3| - 10.200x 0.520x 0.700 | -3.713| 8.300 | 14.740 | -30.816 | -54.726
2 106.080 880.466 | 1563.622
X6 =X (Vi Xi)/z Vi = 880.466/ 106.080 = 8.300 (m)
YG = X (Vi Yi)/Z Vi = 1563.622/ 106.080 = 14.740 (m)
€))
[1] ( )
1)
Mo
L 3
I I
I I
= I
I I
I I
I I
I I
I I
I 1 I
I I
I I
I I
| |
I I
I I
I I
I I
I I
I 1
I I
b ] I
2)
™ Vi Xi Vi Yi
y y Vi) " ' i Xi iYi
1 9.000x 12.070x 18.200 1977.066 8.200 7.835 | 16211.939 15490.311
> 1977.066 16211.939| 15490.311]
X6 =X (Vi Xi)/Z Vi = 16211.939/1977.066 = 8.200 (m)
YG = X (Vi Yi)/Z Vi = 15490.311/1977.066 = 7.835 (m)
®
[1] ( )
1)
Mo
| t. i
[ [
— ]
I I I
I I I
I I I
I I I
I I I
| I I
I I I
I I I
I I I
I I I
I I I
I I I
I I I
I I
I
______________ 44
I

I

FORUMS8
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2)
™ Vi Xi Vi Vi
% % vi@m) % v i i i i
1 1.500x 1.200x 21.400 38.520 0.750 2.400 28.890 92.448
2 38.520 28.890 92.448
X6 = £ (Vi Xi)/=Vi= 28.890/ 38.520 =  0.750 (m)
Y6 =X (Vi YiI)/Z Vi = 92.448/ 38.520 = 2.400 (m)
2.2
D
[1] ( )
1)
[ T
:h i
[ [
. i
| | I
| | I
| | I
| | I
| | I
| | I
| | I
| | I
| | I
| | I
| | I
| | I
| |
: 1 :
r-- -
| |
b ] |
2)
™ Vi Xi Vi Vi
% % Vi () % v i i i i
1 9.000x 2.000x 18.200 327.600 8.200 2.800 | 2686.320 | 917.280
> 327.600 2686.320 | 917.280
X6 =X (Vi Xi)/Z Vi = 2686.320/ 327.600 = 8.200 (m)
Y6 = X (Vi Yi)/Z Vi = 917.280/ 327.600 = 2.800 (m)
2.3 s , ’
€Y)
W=y V = 24.500 x 1744.724 = 42745.738 (KkN)
X = 6.657 (m)
H=W kh = 42745.738 x 0.200 = 8549.148 (kN)
Y =  6.286 (m)
@ .
= Wu + Wl (kN)
Wu = Vu( ) v ( ) (kN
Wi = Vi ) v sat( ) (kN)

FORUMS8
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[1]

D

X=Wu Xu+ W XD/W (m)
H=W Kh (kN)
Y=Wu Yu+W YD/W (M)
)
(m) (m)
v(m) X Y vI(m) X1 YI
( ) 106.080 8.300 14.740 0.000 0.000 0.000
( ) 38.520 0.750 2.400 0.000 0.000 0.000
( ) 1977.066 8.200 7.835 0.000 0.000 0.000
(m)
vu(m) Xu Yu
( ) | 106.080 8.300 | 14.740
« ) 38.520 0.750 2.400
( ) 1977.066 8.200 7.835
Vu = V-VI
Xu = (v X-vI XD)/Vu
Yu = (V Y-VI YD)/Vu
Wu = Vux y (kN) WI = VIx y sat (kN)
( ) | 106.080 x 20.000 = 2121.603 0.000 x 21.000 = 0.000
( ) 38.520 x 20.000 = 770.400 0.000 21.000 = 0.000
( ) 1977.066 x 20.000 = 39541.316 0.000 x 21.000 = 0.000
W H
Wu + Wi (kN) X(m) W Kh (kN) Y(m)
( ) 2121.603 + 0.000 = 2121.603 8.300 | 2121.603 x 0.16 = 339.457 14.740
( ) 770.400 + 0.000 = 770.400 0.750 770.400 x 0.16 = 123.264 2.400
( ) 39541.316 + 0.000 = 39541.316 8.200 | 39541.316 x 0.20 = 7908.263 7.835

FORUMS8
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[2]

( )
1
(m (m
v(m) X Y VI(m) X v
( ) 106.080 8.300 14.740 0.000 0.000 0.000
« ) 38.520 0.750 2.400 0.000 0.000 0.000
« ) 1977.066 8.200 7.835 327.600 8.200 2.800
(m
Vu(m) Xu Yu
( ) 106.080 8.300 14.740
« ) 38.520 0.750 2.400
« ) 1649.466 8.200 8.835
Vu = V-Vl
Xu= (Vv X-VI XD)/Vu
Yu= (Vv Y-VI YD/Vu
Wu = Vux y (kN) Wl = VIx y sat (kN)
( ) | 106.080 x 20.000 = 2121.603 0.000 x 21.000 = 0.000
« ) 38.520 x 20.000 = 770.400 0.000 x 21.000 = 0.000
( ) |1649.466 x 20.000 = 32989.316| 327.600 x 21.000 = 6879.600
W H
Wu + Wl (kN) X(m) W Kh (kN) Y(m)
( ) | 2121.603 + 0.000 = 2121.603 8.300 | 2121.603 x 0.16 = 339.457 14.740
« ) 770.400 + 0.000 = 770.400 0.750 770.400 x 0.16 = 123.264 2.400
« ) 32989.316 + 6879.600 = 39868.916 8.200 | 39868.916 x 0.20 = 7973.783 7.794
2)
HF = 1.000 (m)
Hr = 2.000 (m)
Pf = 9.800 (kN/m?)
Pr = 19.600 (kN/m?)
Pf+Pr .
U= 5 *Bj + Bc = 4215.372 (kN)

FORUMS8
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( )
Pf+2 « Pr
= ——+Bj = 7.444 (m)
3« (Pf+Pr)
Bj : Bj = 13.400 (m)
Bc : Bc = 21.400 (m)
2.4
@
[11 ( ) ( )
Rv = 3000.000 (kN)
X = 2.075 (m)
Mx = Rv X = 3000.000 2.075 = 6225.000 (KkN.m)
RH = 1500.000 (kN)
Y = 12.040 (m)
My = RH Y = 1500.000 12.040 = 18060.000 (kN.m)
2.5
@
y w(kN/m*) 9.800
Bc (m) 21.400
hr  (m) 0.000
C (KN/m?) 0.000
@
[11 ( )
. 000
P :
X 1
106. 200
D
q (kN/m?) 0.000
HL  (m) 15.000
H2  (m) 0.000
Hs  (m) 0.000

FORUMS8
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2)
1
( HU(m) 15.000
( HL(m) 0.000
h1i(m) 15.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) 8 0.000
) ) 0.000
( ) (kN/m') vy t 20.000
( ) y sat 21.000
X ) (m Xp 13.400
() Kul 0.35400
() KI1 0.35400
() Ku2 0.35400
( ) KI2 0.35400
[1] () 0.000
2] () 106.200
[3] () 0.000
[4] ) 0.000
Pel = (1/2) ([1]+[2]) h1 Bc 17045.100
Pe2 = (1/2) ([3]+[4]) h2 Bc 0.000
Pe = Pel+Pe2 17045.100
Peh = Pe cos(d +0 ) ( ) 17045.100
Pev = Pe sin(® +0 ) ( ) 0.000
Y1 = (2 [1+[2]D) h1/{3 ([1]1+[2])}+h2+HL+hr 5.000
Y2 = (2 [B1+[4]D) h27{3 ([31+[4])}+HL+hr 0.000
Y = (Pel Y1+Pe2 Y2)/Pe 5.000
X =Xp - Y tanb 13.400
Y (Pev *» X)
X=——— =10.000(m)
> Pev
Y (Peh + Y)
Y= ——— =5.000(m)
> Peh
Pv = XPev = 0. 000 (kN)
Ph = X Peh = 17045. 100 (kN)

FORUMS8




- 19 -

[2] ( )
. 000
p
E X1
93 646
X1
99. 970
1)
q (kKN/m*) 0.000
HL  (m) 13.000
H2  (m) 2.000
Hs (M) 2.000
2)
1
() HU(m) 15.000
() HL(m) 0.000
h1(m) 13.000
h2(m) 2.000
hs(m) 2.000
hr(m) 0.000
) 8 0.000
) ) 0.000
« ) (kN/m*) vyt 20.000
« ) y s 21.000
x ) @ Xp 13.400
() Kul 0.35400
() KI1 0.35400
(@) Ku2 0.35400
() KI2 0.35400
[11 () 0.000
[2] () 92.040
[3] () 92.040
[41 () 99.970
Pel = (1/2) ([11+[2D) h1 Bc 12802.764
Pe2 = (1/2) ([31+[4]) h2 Bc 4109.005
Pe = Pel+Pe2 16911.770
Peh = Pe cos(d +0 ) ( ) 16911.770
Pev = Pe sin(® +6 ) ( ) 0.000
Y1 = (2 [11+[2]) h1/{3 ([1]+[2])}+h2+HL+hr 6.333
Y2 = (2 [31+[4]) h2/{3 ([3]+[4])}+HL+hr 0.986
Y = (Pel Y1+Pe2 Y2)/pe 5.034
X =Xp - Y tanb 13.400

FORUMS8
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Y (Pev * X)
BT 0. 000 (m)
Y (Peh + Y)
T 5. 034 (m)
Pv = ZPev = 0.000(kN)
Ph = XPeh = 16911. 770 (kN)
©)
[1] ( )
h (m 1.000 2.000
/) | [ yw h 9.800 19.600
() | Pw=(1/2) 11 h Bc 104.860 |  419.440
m | Yw=hs3 0.333 0.667
2.6
€Y
[1] ( )
(kN.m)
Vi (kN) Hi (kN) X, (m) Yo m) | MeE Ve X Me= He Y,
42745.734 | 8549.146 6.657 6.286 | 284540.094 | 53737.246
770.400 | 123.264 0.750 2.400 |  577.800 295.834
2121.603 | 339.457 8.300 14.740 | 17609.316 | 5003.589
30541.316 | 7908.263 8.200 7.835 | 324238.781 | 61961.242
3000.000 | 1500.000 2.075 12.040 |  6225.000 18060.000
0.000 | 17045.100 0.000 5.000 0.000 85225.500
88179.055 | 35465.230 633191.000 |  224283.406
[2] ( )
(kN.m)
Vi (kN) Hi (kN) X (m) Yo [ MeEVe X M= HOYS
42745.734 | 8549.146 6.657 6.286 | 284540.094 | 53737.246
770.400 | 123.264 0.750 2.400 |  577.800 295.834
2121.603 | 339.457 8.300 14.740 | 17609.316 | 5003.589
30868.914 | 7973.783 8.200 7.794 | 326925.004 | 62144.699
3000.000 | 1500.000 2.075 12.040 |  6225.000 18060.000
0.000 | 16911.770 0.000 5.034 0.000 85136.609
0.000 | 419.440 0.000 0.667 0.000 279.627
0.000 | -104.860 0.000 0.333 0.000 ~34.953
~4215.372 0.000 7.444 0.000 | -31381.102 0.000

FORUMS8
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(kN.m)
Vi (kN) Hi (kN) Xi (m) Yi (m) Ma= Vi Xi Mi= Hi Y
84291.281 | 35712.000 604496.188 224622 .656
) Vo H, Mo
(kN) (kN) (kN.m)
) 88179.055 | 35465.230 | -408907.594
) 84291.281 35712.000 -379873.531
@
Ve = Vo kN)
: Hs = H, (kN)
T Mg = Vo Bi/2.0+M, (kN.m)
: B; = 13.400 (m)
) Ve Hs Me
(kN) (kN) (KN.m)
) 88179.055 35465.230 181892.063
) 84291.281 | 35712.000 | 184878.031
2.7
2.7.1
_ M
€p VB
€s: (m)
Ms: (kN.m)
Vs: (kN)
€. = B/n
€. (m)
B : (m), B = 13.400
n :
(m
)
€ = MB/VB €a
) 2.193 4.467

FORUMS8
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2.7.2
Ho = CeActVetano s
H. : (kN)
Cs : (kN/m?), cs = 0.000
tang . : , tang ; = 0.600
Ac: (), A =L B.
Ve : (kN)
L : (m), L = 21.400
. (m), B. = B-2e;
(m), B = 13.400
s : (m)
( €s B. A. Vs
(m) (m) () (kN)
( ) 2.193 9.013 192.886 84291.281
f, = H/Hs
.
He (kN)
( H, He
(KN) (KN) f. f.
( ) 50574.770 | 35712.000 1.416 1.200
2.7.3
D ( )
. _ Vo, 6
gqmin, gmax B Lt LBZ
2) ( )
gmax L x
Vs (kN)
Ms - (kN_m)
€s: (m)
X : (m), x = 3(B/2 - ey)
B
B
gmax: (kN/m?)
gmin: (kN/m?)
B : (m), B = 13.400
L : (m), L = 21.400

FORUMS8
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2.7.4

[1] (
88179. 055
X (KN/m?)
i W X ém) gmin gmax
o1 13.400 23.486 591.516 3750.000
4. 637 2. 063
13. 400
m (KN/m°)
( ) . o " S| D ()
( ) 3.000 0.000 13.200 17.067 51.200
Qu—Ae. o K.C.NC.SC+K.q.Nq.Sq+%.’yl.B.Be.NV.Sy
Q (kN)
C: (kN/m?*), ¢ = 1500.000
g : (kN/m?), q =y D¢
A : >
Y1, V2: (kN/m®)
e (m), B. = B-2e;
(m), B = 13.400
€5 (m)
Dt : (m)
a, B: , 0 = 1+0.3B./L, B = 1-0.4B./L
B./L> 1 ,Be/L = 1
L : (m), L = 21.400
K , K = 1+0.3D"+/B.
D" (m)
Ne, Ng, Ny
(0} tan@
o : ( ), o =40.00
Se, Sas Sy , Sc = 0.464
Se=(c),S%=@W@).,s =@)
A,V , U
A =-0.333, v =-0.333, y = -0.333
c':c =c/c 1 c 10
Co: 10 (kN/m?)
qg:q =09/0 1 q 10
Qo - 10 (kN/m?)
B": B" = B./B 1 B
Bz 1.0 (m)

FORUMS8



- 24 -

) tan@
= Ho/Ve . N, N, B.(m) | A (M)
) 0.424 |25.648 | 21.292 | 13.172 | 9.013 | 192.886
Q = Qu/n

Ve ! (kN)

Hy - (kN)

Qa:

n :

) K Q Ve 0.

a B s, S, (kN) (KN) (KN)

) 1.126 | 0.832 | 1.000 | 0.580 | 0.481 | 4061991.500 | 84291.281  2030995.750

FORUMS8
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2.7.5

LB

A

B A 1.0
3 . kv ~
B En (m™)
ky : (kN/m*)
BV 3/4
ki = kyo » [——
v VO ( O, 3 )
L b k‘ b |
| |
B |
Kvo: 30cm
(KN/m®)
ko = —— - b
T o3 A
Bv (m)
Bv = yAv = {L - B = 16. 934
a Eo : (kN/m?)
Av (m*)
B (m), B = 13.400
L (m), L = 21.400
E (kN/m?*), E = 2.50x 10’
h (m), h = 1.800
A (m), A =5.089
o (@d+ 21D
A= ;
d + 4
a =1.3
d = 4.500 (m)
A " = max(e,b) = 3.050
e = 3.050 (m)
b = 3.050 (m)
o Eo(kN/m?) (ﬁ*) BoA
° Ko (KN/m*) ke (kN/m)
196000.000 653333.333 31725.341 0.159843 0.813
392000.000 1306666.667 | 63450.681 | 0.190086 | 0.967

FORUMS8
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@ - )/n
FH, < FH,
FH. : (m), FH. = 1.800
FH, : (m), FH, = 10.500/5.000 = 2.100
©)
WB A @
0.813 1.0
0.967 1.0 1.800 < 2.100 6N ©

FORUMS8
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3.1

€Y)

@

[1]

W=y Vo= 24.500 x 1744.724 = 42745.738 (kN)
X = 6.657 (m)
W= Wu + Wl (kN)
Wu = Vu( ) v ( ) (kN)
WI = VI( ) vy sat( ) (kN)
X=Wu Xu+ WL XD/W (m)
1( )
D
\Y X VI X1
() (m) (™) (m)
( ) 106.080 8.300 0.000 0.000
( ) 38.520 0.750 0.000 0.000
( ) 1977.066 8.200 0.000 0.000
Vu Xu
() (m
( ) 106.080 8.300
« ) 38.520 0.750
¢ ) 1977.066 8.200
Vu = V-Vl
Xu=(CV X-vI XI )/Vu
Wu = Vux y (kN) Wl = VIx y sat (kN)
( ) | 106.080 x 20.000 = 2121.603 0.000 x 21.000 = 0.000
( ) 38.520 x 20.000 = 770.400 0.000 x 21.000 = 0.000
( ) 1977.066 x 20.000 = 39541.316 | 0.000 x 21.000 = 0.000

FORUMS8
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W
Wu + WI (kN) X(m)
( ) | 2121.603 + 0.000 = 2121.603 8.300
( ) 770.400 + 0.000 = 770.400 0.750
( ) 39541.316 + 0.000 = 39541.316 8.200
[2] Hi(
D
v X VJ X1
(m) (m @) (m
( ) 106.080 8.300 0.000 0.000
( ) 38.520 0.750 0.000 0.000
( ) 1977.066 8.200 327.600 8.200
Vu Xu
Q) (m
( ) 106.080 8.300
( ) 38.520 0.750
( ) 1649.466 8.200
Vu = V-Vl
Xu=(CV X-vI XI )/Vu
Wu = Vux y (kN) Wl = VIx y sat (kN)
( ) | 106.080 x 20.000 = 2121.603 0.000 x 21.000 = 0.000
( ) 38.520 x 20.000 = 770.400 0.000 x 21.000 = 0.000
( ) 1649.466 x 20.000 = 32989.316 | 327.600 x 21.000 = 6879.600
W
Wu + WL (kN) X(m)
( ) | 2121.603 + 0.000 = 2121.603 8.300
( ) 770.400 + 0.000 = 770.400 0.750
( ) 32989.316 + 6879.600 = 39868.916 8.200
2)
Hf = 1.000 (m)
Hr = 2.000 (m)
P = 9.800 (N/mm?)
Pr = 19.600 (N/mm?)

FORUMS8
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Pf+Pr
U= 5 "B Be = 4215.372 (kN)
( )
Pf+2 « Pr
= —- = 7.444  (m)
3« (Pf+Pr)
Bj : Bj = 13.400 (m)
Bc : Bc = 21.400 (m)
3.2
3.2.1
@
y w(kN/m°) 9.800
Bc (m) 21.400
hr — (m) 0.000
C (kN/m?) 0.000
@
[1] 1( )
000
P
% X 1
63. 000
1)
q (kN/m?) 0.000
HL  (m) 15.000
H2  (m) 0.000
Hs () 0.000

FORUMS8




- 30 -

2)
1
( HU(m) 15.000
( HL(m) 0.000
h1i(m) 15.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
() 0 0.000
) ) 0.000
( ) (kN/m') vy t 20.000
( ) y sat 21.000
(X ) (m Xp 13.400
() Kul 0.21000
() KI1 0.21000
() Ku2 0.21000
( ) KI2 0.21000
[1] () 0.000
[2] () 63.000
3] () 0.000
[4] () 0.000
Pel = (1/2) ([1]+[2]) h1 Bc 10111.499
Pe2 = (1/2) ([3]+[4]) h2 Bc 0.000
Pe = Pel+Pe2 10111.499
Peh = Pe cos(d +0 ) ( ) 10111.499
Pev = Pe sin(® +0 ) ( ) 0.000
Y1 = (2 [1+[2]D) h1/{3 ([1]1+[2])}+h2+HL+hr 5.000
Y2 = (2 [B1+[4]D) h27{3 ([31+[4])}+HL+hr 0.000
Y = (Pel Y1+Pe2 Y2)/Pe 5.000
X =Xp - Y tanb 13.400
Y (Pev *» X)
X=——=10.000(m
> Pev
Y (Peh + Y)
Y= ———=15.000(m
> Peh
Pv = XPev = 0.000(kN)
Ph = XPeh = 10111. 499 (kN)

FORUMS8
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[2] 1 )
000
P
% X 1
54. 686
X 1
59. 304
1)
q (kKN/m*) 0.000
HL  (m) 13.000
H2  (m) 2.000
Hs  (m) 2.000
2)
1
() HU(m) 15.000
() HL(m) 0.000
h1(m) 13.000
h2(m) 2.000
hs(m) 0.000
hr(m) 0.000
() 0 0.000
QD) g 0.000
( ) (kN/m') vy t 20.000
( ) y sat 21.000
X ) (m Xp 13.400
() Kul 0.21000
() KI1 0.21000
() Ku2 0.21000
() KI2 0.21000
[1] () 0.000
21 () 54.600
[31 () 54.600
[41 ) 59.304
Pel = (1/2) ([11+[2]) h1 Bc 7594.860
Pe2 = (1/2) ([31+[4]) h2 Bc 2437.545
Pe = Pel+Pe2 10032.405
Peh = Pe cos(d +0 ) ( ) 10032.405
Pev = Pe sin(® +6 ) ( ) 0.000
Y1 = (2 [A+[2D) hi/{3 ([11+[2])}+h2+HL+hr 6.333
Y2 = (2 [B1+[4D) h2/{3 ([31+[4])}+HL+hr 0.986
Y = (Pel Y1+Pe2 Y2)/pe 5.034
X =Xp - Y tanb 13.400

FORUMS8
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Y (Pev * X)
BT 0. 000 (m)
Y (Peh + Y)
T 5. 034 (m)
Pv = XPev = 0.000(kN)
Ph = ZPeh = 10032. 405 (kN)
3.2.2
€Y
[1] 1 ( )
1)
(kN.m)
Vi (kN) Hi (kN) X (m) Yo (M) | M= Ve X M= He Ve Mye=Me
3000.000 0.000 2.075 12.040 | 6225.000 0.000 ~6225.000
42745.734 0.000 6.657 0.000 | 284540.094 0.000 | -284540.094
770.400 0.000 0.750 0.000 577.800 0.000 ~577.800
2121.603 0.000 8.300 0.000 | 17609.316 0.000 | -17609.316
39541.316 0.000 8.200 7.835 | 324238.781 0.000 | -324238.781
0.000 | 10111.499 0.000 5.000 0.000 50557.496 | 50557.496
1 | 88179.055 | 10111.499 633191.000 | 50557.496 | -582633.504
2 | 88179.055 0.000 633191.000 0.000 | -633191.000
(
2)
(kN.m)
Vi (kN) Hi (kN) X (m) Yo m | MeE Ve X Me= He Y, Mys—Me
0.000 | 2036.800 0.000 12.040 0.000 24523.072 | 24523.072
0.000 | 25647.441 0.000 6.286 0.000 161211.750 | 161211.750
0.000 | 1272.962 0.000 14.740 0.000 18763.461 | 18763.461
0.000 | 23724.791 0.000 7.835 0.000 185883.734 | 185883.734
0.000 | 26001.000 0.000 5.000 0.000 130005.000 | 130005.000
0.000 | 78683.000 0.000 520387.000 | 520387.000

FOR

UmM8
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[2] 1 ( )
1)
(KN..m)
Vi (kN) Hi (kN) X (m) Yo m | M=V X M= He Vs MM
3000.000 0.000 2.075 12.040 | 6225.000 0.000 ~6225.000
42745.734 0.000 6.657 0.000 | 284540.094 0.000 | -284540.094
770.400 0.000 0.750 0.000 577.800 0.000 _577.800
2121.603 0.000 8.300 0.000 | 17609.316 0.000 | -17609.316
39868.914 0.000 8.200 7.794 | 326925.004 0.000 | -326925.094
0.000 | 10032.405 0.000 5.034 0.000 50504.770 | 50504.770
_4215.372 0.000 7.444 0.000 | -31381.102 0.000 31381.102
1 | 84291.281 | 10032.405 604496.188 | 50504.770 | -553991.418
2 | 84201.281 0.000 604496.188 0.000 | -604496.188
( )
2)
(KN.m)
Vi (kN) Hi (kN) X, (m) Yo@m eV X M= He Y, MM
0.000 | 2036.800 0.000 12.040 0.000 24523.072 | 24523.072
0.000 | 25647.441 0.000 6.286 0.000 161211.750 | 161211.750
0.000 | 1272.962 0.000 14.740 0.000 18763.461 | 18763.461
0.000 | 23921.350 0.000 7.794 0.000 186434.109 | 186434.109
0.000 | 25797.613 0.000 5.034 0.000 129869.406 | 129869.406
0.000 | 78676.172 0.000 520801.781 | 520801.781
@
Ve = Vo KN
- He = Hy (kN)
D Me = Vo Bi/2.0+M, (kN.m)
: B; = 13.400 W)
1)
) N Ve H n vd Hd Md
(kN) (kN) (KN.m) (kN) (kN) (KN.m)
1( ) 88179.055 | 10111.499 | 8166.145 | 88179.055 0.000 | -42391.352
1 ) 84291.281 | 10032.405 | 10760.148 | 84291.281 0.000 | -39744.621

FOR

UmM8
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2)
( AV A Hs A M
(kN) (kN) (kN.m)
1( 0.000 | 78683.000 | 520387.000
1( 0.000 | 78676.172 | 520801.781
3.3
(€D)
[1] 1( )
TR —FANC LD EHEEREOISE BN
(D EVRAR(ay, By) = (0.00072,0.363)
Lo QISEENEE (ar, ) = (0.00219,0.685)
0.8
@ |
% 0.6
& .
—_
=]
ﬁ\ﬂl ]
S 0.4
o
[
0.2
0.0 v | v v | v v | v v v I v v 0
0.0005 0.0010 0.0015 0.0020 0.0025 0.0030
RN (o)
. Ve Hs Me o
al Kh (kN) (kN) (kN.m) (mrad)
0.000 0.00 88179.055 10111.499 8166.145 0.030
2 0.363 0.22 88179.055 38673.426 | 197066.641 0.724
3 0.685 0.41 88179.055 64009.352 |  364631.250 2.194

FORUMS8
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[2] 1( )
TR —FANC LD EZE LB OIS E BN
(i EVFRAR(ay, By) = (0.00069,0.342)
Lo QOSEEARE (ar, Br) = (0.00224,0.663)
0.8
@ |
#0.6
t,i{ .
=3 i
:@J\I ]
Q0.4
o (
i
0.2+
0. 0 1 I 1 U
0.0005 0.0010 0.0015 0.0020 0.0025
EIERZEANT (o)
- Ve Hs Ms a
ail Kh (kN (kN) (kN.m) (mrad)
0.000 0.00 84291.281 10032.405 10760.148 0.040
2 0.342 0.21 84291.281 36872.430 | 188686.141 0.693
3 0.663 0.40 84291.281 62064.387 | 355686.844 2.242
3.4
3.4.1
(€D)
[1] 1( )
H=W kh Y
(kN) (m
3040.000 x 0.459 = 1395.208 12.040
() |42745.738 x 0.411 = 17568.499 6.286
( ) |39541.316 x 0.411 = 16251.482 7.835
[2] 1( )
H=W kh Y
(kN) (m
3040.000 x 0.444 = 1350.398 12.040
( ) |42745.738 x 0.398 = 17004.256 6.286
( ) |39868.916 x 0.398 = 15859.856 7.794

FORUMS8
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3.4.2
@
y w(kN/m%) 9.800
Bc  (m) 21.400
hr  (m) 0.000
C (KN/m?) 0.000
@
[11 Hi(
. 000
p
K RT1
D
q (kN/m?) 0.000
HL  (m) 15.000
H2  (m) 0.000
Hs (m) 0.000

173.970

FORUMS8
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2)
1
( HU(m) 15.000
( HL(m) 0.000
h1i(m) 15.000
h2(m) 0.000
hs(m) 0.000
hr(m) 0.000
) 8 0.000
) ) 0.000
( ) (kN/m') vy t 20.000
( ) y sat 21.000
X ) (m Xp 13.400
() Kul 0.57990
() KI1 0.57990
() Ku2 0.57990
( ) KI2 0.57990
[1] () 0.000
21 () 173.970
[3] () 0.000
[4] ) 0.000
Pel = (1/2) ([1]+[2]) h1 Bc 27922.186
Pe2 = (1/2) ([31+[4]) h2 Bc 0.000
Pe = Pel+Pe2 27922.186
Peh = Pe cos(d +0 ) ( ) 27922.186
Pev = Pe sin(d +6 ) ( ) 0.000
Y1 = (2 [A+[2]D) hi/{3 ([11+[2])}+h2+HL+hr 5.000
Y2 = 2 [B1+[4D) h2/{3 ([31+[4])}+HL+hr 0.000
Y = (Pel Y1+Pe2 Y2)/Pe 5.000
X =Xp - Y tanb 13.400
Y (Pev *» X)
X=——— =10.000(m)
> Pev
Y (Peh + Y)
Y= ——— =5.000(m)
> Peh
Pv = XPev = 0.000(kN)
Ph = XPeh = 27922. 186 (kN)

FORUMS8
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[2] Hi( )
. 000
p
X 1
147. 685
X1
160. 409
1
q (kKN/m*) 0.000
HL  (m) 13.000
H2  (m) 2.000
Hs  (m) 2.000
2)
1
() HU(m) 15.000
() HL(m) 0.000
h1(m) 13.000
h2(m) 2.000
hs(m) 0.000
hr(m) 0.000
() 0 0.000
) 0 0.000
( ) (kN/m') vy t 20.000
( ) y sat 21.000
X ) (m) Xp 13.400
() Kul 0.56802
() KI1 0.56802
() Ku2 0.56802
( ) KI2 0.56802
[1] () 0.000
21 () 147.685
[31 () 147.685
[41 ) 160.409
Pel = (1/2) ([1]+[2]) h1 Bc 20543.012
Pe2 = (1/2) ([31+[4]) h2 Bc 6593.213
Pe = Pel+Pe2 27136.225
Peh = Pe cos(d +0 ) ( ) 27136.225
Pev = Pe sin(® +6 ) ( ) 0.000
Y1 = (2 [A+[2D) hi/{3 ([11+[2])}+h2+HL+hr 6.333
Y2 = (2 [3B]+[4D) h2/{3 ([3]+[4])}+HL+hr 0.986
Y = (Pel Y1+Pe2 Y2)/pe 5.034
X =Xp - Y tanb 13.400

FORUMS8
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Y (Pev * X)
BT 0. 000 (m)
Y (Peh + Y)
T 5. 034 (m)
Pv = ZPev = 0.000 (kN)
Ph = ZPeh = 27136. 225 (kN)
3.4.3
€Y
[1] 1 ( )
(KN.m)
Vi (kN Hi (kN) X (m) Yo m M= v X Mi= He Vs MM
3000.000 | 1395.208 2.075 12.040 | 6225.000 16798.305 | 10573.305
42745.734 | 17568.496 6.657 6.286 | 284540.004 | 110430.055 | -174110.039
770.400 0.000 0.750 0.000 577.800 0.000 ~577.800
2121.603 | 871.979 8.300 14.740 | 17609.316 | 12852.972 | -4756.345
30541.316 | 16251.481 8.200 7.835 | 324238.78L | 127330.350 | -196908.422
0.000 | 27922.186 0.000 5.000 0.000 139610.922 | 139610.922
88179.055 | 64009.352 633191.000 | 407022.625 | -226168.375
[2] 1 ( )
(KN.m)
Vi (kN) Hi (kN) X (m) Yo ) | M Ve X W= He Ve Mye=M.
3000.000 | 1350.398 2.075 12.040 | 6225.000 16258.797 |  10033.797
42745.734 | 17004.256 6.657 6.286 | 284540.004 | 106883.406 | -177656.688
770.400 0.000 0.750 0.000 577.800 0.000 ~577.800
2121.603 | 843.974 8.300 14.740 | 17600.316 | 12440.175 | -5169.142
30868.914 | 15859.855 8.200 7.794 | 326025.004 | 123605.820 | -203319.273
0.000 | 27136.225 0.000 5.034 0.000 136608.188 | 136608.188
_4215.372 0.000 7.444 0.000 | -31381.102 0.000 31381.102
84201.281 | 62194.711 604496.188 | 395796.375 | -208699.813
@
SV =V, (KN)
© Ho = H, (kN)
S My = Vo B/2.04M, (kN.m)
- B; = 13.400 )

FORUMS8
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( ) Ve Hy M
(KkN) (kN) (kN.m)

1( ) 88179.055 | 64009.352 | 364631.281

1( ) 84291.281 | 62194.711 | 356051.750

FORUMS8
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4.1
@
D

2)

[1]
a)

b)

[2]

[1]

M1

Wd - 1° 20.570 X 7.350 *

Md = = = 111. 124 (kN. m/m)

Md

10 10

Wd - 1° 20.570 X 6.700 °
- = 92.339 (kN. m/m)

10 10
Wd - 1° 20.570 X 7.350 *
Md = = = 138.905 (kN. m/m)
8 8
Wd , (kN/m)
Wd = W1 + W2 = 5.625 + 14.945 = 20.570
WL (kN/m)
w2 (KN/m)
(m
m : 1 =7.350
(m :1=26.700
m 1 =7.350

Kem= (2.108 X 50.074 ) = 105.572(kN. m/m)
M,  84.458

Mo 40.059

My _ 510.758 50. 074 (kN. m/m)

B 10. 200

Wl-+1> 94.545 X 7.350 °’

= = 510. 758
10 10

Vi x X w
. 1 — —— | . 1 —
be ( 11) ( 2. 11 )
555. 927 X 2.940 B 2. 940 B 5. 880
4. 838 5. 880 2+ 5. 880
Wl-1?2 1 94.545 X 5.880 °

c— = = 40. 059
8 B 8 X 10.200

) = 84. 458

FORUMS8
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b)
M1

TR

TEhZh §

=Kem= (1.365 X 41.609 ) = 56,801 (kN. m/m)
Mz 25. 561
= — = = 1.365
Mis 18. 724
M 424, 415
= — = T = 41,609 (kN. m/m)
B 10. 200
Wl - 1? 94.545 X 6,700 *
= = = 424, 415
10 10
:Vl'X. l—i . 1_ U
be 1; 21
142, 764 X 0. 755 0. 755 1.510
— {1 - « |1l — ———— ) = 25.561
2. 782 4, 020 2+ 4,020
Wl-172 | 94,545 X 4.020 °
= — = = 18.724
8 B 8 X 10,200
M, (kN.m/m)
Mu (kN.m)
(kN/m)
Eima
75m
45"‘/
L a \\ D=2
1 =a2D
CExEETE)
P(1 + i) 2 X 100.000 X (1 + 0.300)
Wl = = = 94, 545
2.75 2.75
P kN), P = 100.000
B (m), B = 10.200
M.
Vv, (kN)
Vi =WI u, (up = 1) = 94.545 x 5.880 = 555.927
I, =0.8 1 =5.880
Vi = WL u, (u; = (I, - ©)/2) = 94.545 x 1.510 = 142.764
I. =0.6 1 =4.020

(kN.m/m)

FORUMS8
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3)

o=y ]

[2]

[1]

b)

be : (m)
chs
e PREREC s
I T | /
/,l I/ /,/
_I V | V I //,/ I/ I/,/
‘: 1} _L l/ / 7
%% IZZV/L"' / """///A"_}*""7A'ZL" ''''' ‘7/"
N x=ul/2 / //
v ,I X-UZ/Z/ ,//
I' / ,/

Mx

Mx

| owammsn | cemmms |

be = L + 2.4x (1 - ii) = 1.310 + 2.4 X 2.940 X (1 -
1
be = L + 2.4x - (1 - ——) = 1.310 + 2.4 X 0.755 X (1 -
1
L (m

L=a+2 D=0.2+2x 0.555 =1.310

h 0.610
D=d+5=O.250+T=O.555 (m)

a : (m), a=0.200
: (m)

h : m

Mis :

=K +emec = ( 1.737 X 62.593 ) = 108. 706 (kN. m/m)
= (K1 + K2)/2 = (2.108 + 1.365)/2 = 1.737

M 638. 448
= — = 7 = 62,593 (kN. m/m)

B 10. 200

Wl-1> 94,545 X 7.350°?
= = = 638. 448

8 8

My (kN.m/m)
M|4 -
Ki, Ki: Ki, K,
=Md + Ml = 111.124 + 105.572 = 216. 696 (kN. m/m)
= Md + M1 = 92.339 + 56,801 = 149, 140 (kN. m/m)

2.940
5. 880

0. 755
4.020

|
|

4.838

= 2.782

(kN.m/m)

FORUMS8
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[2]
Mx = Md + M1 = 138.905 + 108.706 = 247.611 (kN. m/m)
@
D
a) ( )
+ @
1
v
T M
(cm) cn/ ) (cm?)
1 10.0 D29 6.424 8.00 51.39
2 N
1 10.0 D22 3.871 8.00 30.97
2F —
b) ( )
+ @
1
v
T M
(cm) (cm’/ ) (cm?)

1 10.0 D29 6.424 8.00 51.39

1" 10.0 D22 3.871 8.00 30.97

[BEAZ : mm]

[B{Z : mm]

FORUMS8



- 45 -

[B{Z : mm]

c)
+ m
1
v
T m=
(cm) (cm’/ ) (cm?)
1 10.0 D29 6.424 8.00 51.39
2 - N
1 10.0 D22 3.871 8.00 30.97
2" | — | —
2)
N
Mc = Zc * (Obt+A_c)
M. (N.mm)
Z. (mm®), Z. = b h*/6 = 62016.7x 10°
O o (N/mm?), O o = 0.230 «°
O « (N/mm?), O « = 24.00
N (N), N =0.0
A (mm?), A = b h = 610000.000
b (mm)
h (mm), h = 610.000
M M.
x 1.7
(cm?) (kN.m) (kN.m) (cm?)
30.968 368.384 > 118.680 6.813
30.968 253.538 > 118.680 6.813
51.392 420.939 > 118.680 6.813

FORUMS8
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3)
« )
2 * n b b
X {As’ + (x=d")#As + (x=d) }=0.0
L 0x%ERD D,
M
[ ) ’
bex [h x , (x=d") -« (h/2-d") (x=d) + (h/2-d)
s (=== ]+n + AS” - n e As
2 2 3 ) X X
d—x
O — N Oc¢*
X
X (mm)
h - (mm), h = 610.000
b : (mm), b = 1000.000
d : (mm)
dr : (mm)
As : (mm?)
As": (mm?)
n : , h=15.00
e (mm)
CC: (N/mm?)
o s: (N/mm?)
Mo (N.mm)
M X (N/mm?) (N/mm?)
(kN.m) (cm)
216.696 17.618 5.454 8.000 155.026 180.000
149.140 17.618 3.754 8.000 106.696 180.000
247.611 21.371 5.281 8.000 109.818 180.000
4.2
@ ( )
a)
[1] 5675 faf BBy
M
My = = Mx = 0.574 X 216.696 = 124, 453
X
1 7. 350 M
= - = 0.721 kY — =b=0.57
ly 10. 200 Mx
b)

FORUMS8
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[ 1] 5675 frf B FF
M
My = — +Mx = 0.500 X 149, 140 = 74. 529
X
1 6. 700 M
== =0.657 L0 — =1b = 0.500
ly 10. 200 Mx
Ix (m)
ly (m
b
Mx (kN.m)
My (kN.m)
@
1)
a) )
+ m
1
v
T &
(cm) cn/ ) (cm?)
1 10.0 | D29 6.424 | 8.00| 51.39
2 - N
1" | 10.0 | D22 3.871| 8.00| 30.97
2" | — | —
b) ( )
+ m
1
v
T &

[BEAZ : mm]

[BEAZ : mm]

FORUMS8
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(mm®), Z. = b h/6 = 62016.7x 10°

As ¢

(x=d) -+ (h/2-d)

(cm) cn/ ) (cm?)
1 10.0 D29 6.424 8.00 51.39
2 -
1" 10.0 D22 3.871 8.00 30.97
o
2)
N
Mc = Zc * (Obt+A_C)
M. (N.mm)
Z
O o (N/mm?), O o = 0.230 «°
O « (N/mm?), O « = 24.00
N (N), N=0.0
Ac (mm?), A = b h = 610000.000
b (mm)
h (mm), h = 610.000
M M.
x 1.7
(cm?) (kN.m) (kN.m) (c)
30.968 211.570 > 118.680 6.813
30.968 126.699 > 118.680 6.813
3)
« )
2+n , ,
X+ {As” + (x=d")#As + (x=d) }=0.0
L 0x%ERD D,
[ ) ’
bex (h x , G=d) - (h/2-d)
*|=———|+n - As +n »
2 2 3)
d—x
O — N Oc¢*

X

FORUMS8
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X (mm)

h (mm), h = 610.000

b (mm), b = 1000.000

d (mm)

d- (mm)

As (mm?)

As*® (mm?)

n , h=15.00

e (mm)

oc (N/mm?)

oS (N/mm?)

M (N.mm)

M x (N/mm?) (N/mm?)

(kN.m) (cm)
124.453 17.618 3.133 8.000 89.034 180.000
74.529 17.618 1.876 8.000 53.318 180.000

FORUMS8
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5.1

5.1.1

€))

@
D

2960

Lx=525

1130

P2l=  0.000 (kN)

P22= 14.274 (kN)

[#A7 : mm)
M = Ru L. = 76.735 (KN.m)
Ru = Re+T/1.375 = 146.162 (kN)
R: = % o (W+Wyrq) « L = 73.435 (kN)
Me : (kN.m)
Ru : (kN)
L. : (m), Ly = 0.525
T =T (kN), T = 100.000
Re : g, Wi, W (kN)
W, : (KN/m?), W, = 5.625
W, : (kKN/m?), W, = 14.945
h, : (m), h. = 0.250
Y1 (kN/m?), y 1 = 22.500
h, : (kN/m*), h, = 0.610
Y 2! (kKN/m*), y . = 24.500
q (kN/m*), g = 0.000
L : L=al0=7.140
LO : (m), LO = 10.200
a , o =0.700
y Al Yi AP Yi
(m) (m)
1.050 x 1.830 1.921 0.915 1.758

FORUMS8
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2)

N Al Yi Al Yi
(m) (m)
0.550 x 1.130 0.622 2.395 1.488
2.543 | ——— 3.247
Gw=ZAi vy = 2.543 24.500 = 62.303 (kN)
Gh = Gw kh = 62.303 0.200 = 12.461 (kN)
Gy = Z (A1 Yi)/Z Ai = 3.247/ 2.543 = 1.277 (m)
Rh =2 Rf kh =2 73.435 0.200 = 29.374 (kN)
Ry = 1.830 (m)

FORUMS8
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3)

4)

1
Ehl = E;(P11+P12) «hl = 0.000 (kN)

P11 = g Kl cos(B 1+5 ) = 0.000 (kN/m?)
P12 = (g+ty hl) K,1 cos(® 1+d ) = 0.000 (kN/m?)
M.1= Ehl Yel = 0.000  (kN.m)

2« P11+P12
Vel = (h-hl)+—————"—~hl = 0. 000 (m)
3« (P11+P12)

1
Eh2 = EE(P21+P22) - h2 = 13.061 (kN)

P21 = " K.2 cos(® 2+d ) = 0.000 (kN/m?)
P22 = (q"+y " h2) K.2 cos(® 2+ ) = 14.274  (kN/m*)
M.2= Eh2 Ye2 = 7.967 (kN.m)

2 « P21+P22
Ye2 = —————————— < h2 = 0.610 (m)
3+ (P21+P22)

Ehl, Eh2 : ( 1, 2) (kN)
h : (m), h =1.830
hl : 1 (m), hl = 0.000
h2 : 2 (m), h2 = 1.830
Kal: ( 1), Kl = 0.354
Ka2: ( 2), K2 = 0.390
P11, P12: (  1DKN/m)
P21, P22: ( 2) (kN/m?)
M1, M2: (kN.m)
Yel, Ye2: ( 1, 2)(m)
q : (kN/m?), q = 0.000
q" : (kN/m?), gq" = 0.000
Y.y " (kN/m*), y = 20.000
y " = 20.000
o : ( ), d =0.000
0 1: ( ), 61=0.000
0 2: ( ), 62=0.000
S h M
(kN) (m) (kN.m)
12.461 1.277 15.909

FORUMS8
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S h M
(kN) (m) (kN.m)
29.374 1.830 53.754
1 0.000 0.000 0.000
2 13.061 0.610 7.967
54.895 77.630
5.1.2
@
i
1 2
v
= [Hifz : mm]
% M
1)
(cm) (cn/ ) (cm?)
1 10.0 D16 1.986 4.00 7.944
2 - N
1| 10.0 D16 1.986 4.00 7.944
27| — | —
2)
(cm) e/ ) (cm)
50.0 D13 1.267 4.00 5.068
@
N
Mc Zc * (O—bd_A_c)
M. (N.mm)
Z.
O e (N/mmz), O =
O « (N/mm®), 0 « = 24.000
N (N), N=0.0
A. (mm*), A. = b h = 1050000.000
b (mm)
h (mm), h = 1050.000

(mm°), Z. = b h/6 = 183750.0x 10°
0.230 .

FORUMS8
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M M.
x 1.7
(cm?) (kN.m) (kN.m) (cm?)
7.944 130.450 351.638| 5.000
7.944 131.971 351.638| 5.000
1.7 5.0
= 5.0
)
2+n , ,
X {As’ + (x=d")+As + (x=d)}=0.0
L VxERDD,
M
[ ) ’
bex [h x , (x=d") -« (h/2-d") (x=d) + (h/2-d)
c (=== ]+n + AS” - n e As
2 2 3 ) X X
d-x
O — N Oc¢*
X
X (mm)
h (mm), h = 1050.000
b (mm), b = 1000.000
d : (mm)
dr : (mm)
As : (mm?)
As": (mm?)
n : , h=15.00
e : (mm)
CC: (N/mm?)
os: (N/mm?)
Mo (N.mm)
M X (N/mm?) (N/mm?)
(kN.m) (cm)
76.735 13.907 1.222 8.000 106.887 180.000
77.630 13.907 1.236 12.000 108.134 300.000

FORUMS8
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*

Sh
Tha = = T al
+d
T, (N/mm?)
Sh N)
d (mm)
b (mm)
T o - (N/mm?)
T a = Ce Cpt T a"
T ' (N/mm?)
Ce
d(mm) | 300 1,000 3,000 5,000 10,000
Ce 1.4 1.0 0.7 0.6 0.5
Cpt : Pt ( )
PE(%) 0.1 0.2 0.3 0.5 |1.0
Cpt 0.7 0.9 1.0 1.2 1.5
(N/mm?)
Si(kN) d (cm) 1 Ta T | Ce |Cpt
54.895 95.000 0.058 0.240 2.550 1.03 | 0.67

FORUMS8
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6
6.1 ( )
6.1.1
= A £ Pa = f =
: ; B % . ] %
© - %(‘ //// \\\\ Pc 2
I AN I
1 525]?1 525 3050
6100
©)
A
1
Pa’ = — {@+ yreh) + (@+ yr-h2)} -Ka-hA+cosd = 199.875 (kN)
B
P’ = — {(a+ yr+h3) + (@+ yr-hd)| +Ka-hB+cosd = 135. 171 (kN)
c
1
Pe’ = — {a+ yr-n5) + (@+ yr-h6)} +Ka-hC-cosd = 158.024 (kN)
Pa = Pa"/ha = 22.159 (kN)
Pb = Pb/hb = 44.318 (kN)
Pc = Pc"/hc = 51.811 (kN)
B OB 5 Pl = (qg+ yr-h2) -Ka-cosd = 44.318 (kN)
i B Bl & OWTRi /300 7P2 = (@ + yr - h6) <Ka - cosd — PL = 14.986  (kN)
@)
1
Ph=td yc Kh=10.780 (kN)
2)
A
1
Pa’ = — {@+ yr+hl) + (@+ yr-h2)} -Ka-hA+cosd = 317.306 (kN)
B
P’ = — {(a+ yr-h3) + (@+ yr-hd)} -Ka+hB-cosd = 214.586 (kN)
c
P’ = — {(a+ yr+h5) + (@ + yr+h6)} +Ka+hC-cosd = 250.866 (kN)
3)
Pa = Pa"/ha+Ph = 45.958 (kN)
Pb = Pb*/hb+Ph = 81.136 (kN)
Pc = Pc"/hc+Ph = 93.031 (kN)

FORUMS8
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BAE O Wi /I Pl =(g+ yr+-h2) -Ka+cosd+Ph = 81.136 (kN)
I P EBEEDOBE /107P2 = (@ + yr+hé) «Ka-cosd + Ph — P1 = 23.790
1: (m) o1 6.100
hli: A ( )(m) ,hl = 0.000
h2 - A ( Y(m) ,h2 =9.020
h3 : B ( )(m) ,h3 = 7.495
h4 : B ( Y(m) ,hd4 = 10.545
h5 : C ( )(m) ,h5 =9.020
h6 : C ( Y(m ,h6 = 12.070
hA : A (m) ,hA = 9.020
hB : B (m) ,hB = 3.050
hC : C (m) ,hC = 3.050
ha : A (m) ,ha = 9.020
hb : B (m ,hb = 3.050
hc : C (m) ,hc = 3.050
td : (m) ,td = 2.200
g : (kN/m?) , g = 0.000
, g = 0.000
Ka : , Ka = 0.251
, Ka = 0.390
> ) , 5 = 11.667
, o = 0.000
y r: (kN/m®) ,y r = 20.000
y c: (kN/m*) ,Y € = 24.500
Kh : ,kh = 0.200
M S
(kN.m) (kN) a (s
82.454 67.585 1.000 1.000
171.010 | 140.172 1.000 1.000
34.356 |  0.000 | 1.000 | ——
71.254 0.000 1.000 | —
115.436 | 135.171 0.700 1.000
211.335 | 247.465 0.700 1.000
68.712 |  0.000 |  1.000 | ——
125.795 0.000 1.000 | ——
77.116 79.012 0.400 0.500
138.467 | 141.872 0.400 0.500
68.811 79.012 0.300 0.500
124.280 | 141.872 0.300 0.500
114.685 | 158.024 0.500 1.000
207.134 | 283.745 0.500 1.000

(kN)

FORUMS8
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6.1.2
@
DA
U
r 2 9
[BAL : mm]
@
(cm) (cm’/ ) (cm®)
l - N
2 - N
1 10.0 D16 1.986 4.00 7.94
2 | — | —
2)A"
U
1 (=1
[B{Z : mm]
@
(cm) (cn/ ) (cm?)
1 10.0 D16 1.986 4.00 7.94
2 - N
] — | —
| — | —

FORUMS8
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3)B
Al
r 2 y
[BEAZ : mm]
Ei= ﬁ
(cm) (cm’/ ) (cm?)
l - N
2 - N
1 10.0 D16 1.986 4.00 7.94
2 | — | —
4)B*
AT T
1 (=1
[EA7 : mm]
Ei= ﬁ
(cm) (cm’/ ) (cm®)
1 10.0 D16 1.986 4.00 7.94
2 - N
| — | —
2 | — | —

FORUMS8
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5)C
Al
r 2 y
[BEAZ : mm]
Ei= ﬁ
(cm) (cm’/ ) (cm?)
l - N
2 - N
1 10.0 D16 1.986 4.00 7.94
2 | — | —
6)D
AT T
r 2 y
(AL -
Ei= ﬁ
(cm) (cm’/ ) (cm®)
1 - N
2 - N
1 10.0 D16 1.986 4.00 7.94
2 | — | —

FORUMS8
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(m?), Z. = b h/6 = 806666.7x 10°

(m?), A. = b h = 2200000.000

E
Al
r 2 .
[BAL : mm]
Ei= ﬁ
(cm) (cm’/ ) (cm?)
l -
2 -
1" 10.0 D16 1.986 4.00 7.94
2° e
@
N
Mc = Zc * g bt+A_C
M (N_.mm)
Z
O b (N/mm?), O e =
O « (N/mm?), O « =
N (N), N=0.0
Ac
b (mm)
h (mm), h = 2200.000
M M
x 1.7
(cm®) (kN.m) (kN.m) (cm®)
A 7.944 140.172 1543.700 5.000
7.944 290.716 1543.700 5.000
A" 7.944 58.405 1543.700 5.000
7.944 121.132 1543.700 5.000
B 7.944 196.241 1543.700 5.000
7.944 359.269 1543.700 5.000
B*® 7.944 116.810 1543.700 5.000

0.230 «**
24.00

FORUMS8
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M M

x 1.7
(cm?) (kN.m) (kN.m) (cm®)
7.944 213.851 1543.700 5.000
7.944 131.096 1543.700 5.000
7.944 235.395 1543.700 5.000
7.944 116.978 1543.700 5.000
7.944 211.277 1543.700 5.000
7.944 194.964 1543.700 5.000
7.944 352.128 1543.700 5.000

©)
)
2+n , ,
X {As’ + (x=d")+As + (x=d)}=0.0
L0x%RD 5,
M
[ ) ’
bex [h x o Gd) - (h/2-d) (x=d) + (h/2-d)
*|———|+tn -+ As +n + As -
2 2 3) X X
d—x
0Os — Oc¢*
X
X (mm)
h (mm), h = 2200.000
b (mm), b = 1000.000
d (mm)
d- (mm)
As (mm?)
As*": (mm?)
n , h=15.00
e (mm)
ocC: (N/mm?)
o s: (N/mm?)
M (N.mm)
M x (N/mm?*) (N/mm®)
(kN.m) (cm)
82.454 21.216 0.383 8.000 51.147 180.000
171.010 21.216 0.795 12.000 106.078 300.000
-34.356 21.216 0.160 8.000 21.311 180.000
-71.254 21.216 0.331 12.000 44.199 300.000
115.436 21.216 0.536 8.000 71.605 180.000

FORUMS8
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M x (N/mm*) (N/mm®)
(kN.m) (cm)
211.335 21.216 0.982 12.000 131.092 300.000
B*® -68.712 21.216 0.319 8.000 42.622 180.000
-125.795 21.216 0.585 12.000 78.031 300.000
C 77.116 21.216 0.358 8.000 47.835 180.000
138.467 21.216 0.644 12.000 85.892 300.000
D 68.811 21.216 0.320 8.000 42.684 180.000
124.280 21.216 0.578 12.000 77.092 300.000
E 114.685 21.216 0.533 8.000 71.139 180.000
207.134 21.216 0.963 12.000 128.486 300.000
©)
_ Sh
Tn = b . d = Ta
T, (N/mm?)
Sh (N)
d (mm)
b (mm)
T (N/mm?)
Ta=C0 Cpt 14"
Ta (N/mm?)
Ce
d(mm) | 300 1,000 3,000 5,000 10,000
Ce 1.4 1.0 0.7 0.6 0.5
Cpt: Pt ( )
PE(%) 0.1 0.2 0.3 0.5 |1.0
Cpt 0.7 0.9 1.0 1.2 1.5
(N/mm*)
Si(kN) d (cm) T T a T | Ce |Cpt
A 67.585 210.000 0.032 0.111 1.700 |0.83|0.58
140.172 210.000 0.067 0.168 2.550 |0.83]0.58
B 135.171 210.000 0.064 0.111 1.700 0.83 | 0.58
247 .465 210.000 0.118 0.168 2.550 |0.83]0.58
C 79.012 210.000 0.038 0.111 1.700 |0.83 |0.58
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(N/mm?)
Si(kN) d (cm) T T a T | Ce |Cpt
141.872 210.000 0.068 0.168 2.550 |0.83]0.58
79.012 210.000 0.038 0.111 1.700 0.83 | 0.58
141.872 210.000 0.068 0.168 2.550 |0.83]0.58
158.024 210.000 0.075 0.111 1.700 |0.83 |0.58
283.745 210.000 0.135 0.168 2.550 0.83 | 0.58

FORUMS8
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6.2 ( )
6.2.1
E A A noo S . E
_B B % [ 2 —1z
& [t} %(‘ //// \\\\ Pe E
i I
1 525]?1 5256 3050
6 100
@
1
Pa’ = 5 {(q+ vre+hl) + (q + yr-hZ)} *Ka+ha-+cosd
1
P = {@+ yr+n3) + (@+ yr-hd)} +Ka-hb+cosd
, _ Lo
P = 5 l(qu vr +h5) + (q + yr-hG)} +Ka - hc +coso
Pa = Pa"/ha = 24.616 (kN)
Pb = Pb*/hb = 46.775 (kN)
Pc = Pc"/hc = 54.268 (kN)
B PL=(g+yr h2) Ka cosd
B P2=(qg+yr h6) Ka cosd
@
1
Ph=td y c Kh=3.430 (kN)
2)
A
1
Pa’ = — @+ yrohl) + @+ yroh2)) - Ka-hacosd
B
1
Po = — {(@+ yroh3) + G+ yreh#)) -Ka-hb - coso
C
1
Pe’ = 5 {(q+ vr+h5 ) + (q + yr-h6’)} +Kae+hce+cosd
3)
A
., 11
Pra’ = 5 { 5 {(yr'hrl) + (yr-hrZ)} -Ka-hrA'cosﬁ}
B
., 11
Prh’ = 5 { 5 {(yr'hr3) + (yr-hr4)} -Ka-hrB'cosﬁ}
C

222,034 (kN)

142.663  (kN)

= 165.516 (kN)

= 46.775 (kN)
- P1 = 14.986 (kN)

360.179  (kN)

219. 179 (kN)

252.110  (kN)

144. 008 (kN)

97.389 (kN)

FORUMS8
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L[ 1
Prc’ = B { B {(yr+nrs) + (yr-hr6)} +Ka-hrC-cosd | = 113.854 (kN)

4)
Pa = (Pa"-Pra")/ha+Ph = 27.396 (kN)

Pb = (Pb"-Prb")/hb+Ph = 43.361 (kN)
Pc = (Pc"-Prc")/hc+Ph = 48.760 (kN)
B PL=(@+vyr h2") Ka cosd
-1/2 (y r hr2) Ka cosd + Ph =43.361 (kN)
B P2 = (q+yr h6") Ka cosd

-1/2 (y r hr6) Ka cosd - Pl =10.797 (kN)

1: () , I =6.100
hl : A @IW) ,h1 = 0.000 (h1® = hl + hu = 1.130)
h2 : A @IW) ,h2 = 9.020 (h2" = h2 + hu = 10.150)
h3 : B @IW) ,h3 = 7.495 (h3" = h3 + hu = 8.625)
h4 - B ( Y(m ,h4 = 10.545 (h4" = h4 + hu = 11.675)
h5 = C ¢ dY(m ,h5 = 9.020 (h5" = h5 + hu = 10.150)
h6 : C @IW) ,h6é = 12.070 (h6" = h6 + hu = 13.200)
ha : A (m) ,ha = 9.020
hb : B (m ,hb = 3.050
hc : C (m) ,hc = 3.050
hrl: A ( Y(m),hrl = 0.000
hr2: A ( dY(m),hr2 = 9.020
hr3: B ( Y(m),hr3 = 7.495
hrd: B ( d(m),hrd = 10.545
hr5: C ( Y(m),hr5 = 9.020
hré: C ( dY(m),hre = 12.070
hrA: A (m) ,hrA = 9.020
hrB: B (m) ,hrB = 3.050
hrC: C (m) ,hrC = 3.050
hu : ,hu = 1.130
td : (m) ,td = 0.700
q : (kN/m?) g = 10.000
, g = 0.000
Ka : , Ka = 0.251
, Ka = 0.354
) ) o = 11.667
, 6 = 0.000
y r: (kN/m®) ,y r = 20.000
y c: (kN/m*) ,Y € = 24.500
Kh : ,kh = 0.200

M S
(kN.m) (kN)

KM KS

91.595 75.078 1.000 1.000

101.940 83.557 1.000 1.000
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M S
(kN.m) kN) KN KS
A" 38.165 0.000 1.000 | —
42475 0.000 1.000 | —
B 121.835 | 142.663 0.700 1.000
112.943 | 132.252 0.700 1.000
B*® 72.521 0.000 1.000 | —
67.228 0.000 1.000 | —
C 80.772 82.758 0.400 0.500
72.574 74.359 0.400 0.500
D 72.239 82.758 0.300 0.500
65.527 74.359 0.300 0.500
E 120.398 | 165.517 0.500 1.000
109.212 | 148.717 0.500 1.000
6.2.2
@
DA
E T
v
|
(cm) (cm’/ ) (cm®)
1 |
2 |
1 10.0 D16 1.986 4.00 7.94
2" I— —

[Bf7 : mm]

FORUMS8




- 68 -

2)A"
AT
1 g
;'lE!!ﬁ
(cm) (cm’/ ) (cm®)
1 10.0 D16 1.986 4.00 7.94
2 - N
| — | —
" | — | —
3)B
Al
v
;'lE!!ﬁ
(cm) (cm’/ ) (cm®)
1 - N
2 - N
1 10.0 D19 2.865 4.00 11.46
2 | — | —

[BEA7: mm]

[Bf7 : mm]
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4)B"
Al
1 g
;'JE!!ﬁ
(cm) (cm’/ ) (cm®)
1 10.0 D16 1.986 4.00 7.94
2 - N
| — | —
" | — | —
5)C
Al
v
;'JE!!ﬁ
(cm) cn/ ) (cm?)
1 - N
2 - N
1 10.0 D16 1.986 4.00 7.94
2 | — | —

[BEA7: mm]

[Bf7 : mm]
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6)D
U
v
@
(cm) (cm’/ ) (cm®)
1 - N
2 - N
1 10.0 D16 1.986 4.00 7.94
" | — | —
7E
U
v
@
(cm) cn/ ) (cm?)
1 - N
2 - N
1 10.0 D19 2.865 4.00 11.46
2 | — | —

[BEA7: mm]

[Bf7 : mm]
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@
N
Mc = Zc Obt+A_C
Me : (N.mm)
Z: : (mm®), Z. = b h/6 = 81666.7x 10°
O o : (N/mm?), O w = 0.230 «°
O « : (N/mm?), o « = 24.00
N (N), N=0.0
A. (mm?), A = b h = 700000.000
b (mm)
h (mm), h = 700.000
M M.
x 1.7
(cm®) (kN.m) (kN_m) (cm®)
A 7.944 155.712 156.284 5.000
7.944 173.298 > 156.284 7.648
A" 7.944 64.880 156.284 5.000
7.944 72.207 156.284 5.000
B 11.460 207.119 > 156.284 7.648
11.460 192.003 > 156.284 7.648
B*® 7.944 123.285 156.284 5.000
7.944 114.288 156.284 5.000
C 7.944 137.312 156.284 5.000
7.944 123.376 156.284 5.000
D 7.944 122.806 156.284 5.000
7.944 111.396 156.284 5.000
E 11.460 204.676 > 156.284 7.648
11.460 185.660 > 156.284 7.648
©)
« )
2 2 * n K b
x*+ “s '&ﬂ1)MS°(rﬁ”=OO
L Vx%ERDD,
M
o, = » ’
b« x h x , (=d) - (h/2-d) (x=d) + (h/2-d)
c[———|tn +As - +n e As ¢
2 2 3 X X
3 d—x
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X (mm)
h (mm), h = 700.000
b (mm), b = 1000.000
d (mm)
d- (mm)
As (mm?)
As*® (mm?)
n , h=15.00
e (mm)
oc (N/mm?)
s (N/mm?)
M (N.mm)
M X (N/mm*) (N/mm?)
(kN.m) (cm)
A 91.595 10.826 3.001 10.000 204.462 225.000
101.940 10.826 3.340 12.000 227.553 300.000
A" -38.165 10.826 1.250 10.000 85.193 225.000
-42.475 10.826 1.392 12.000 94.814 300.000
B 121.835 12.749 3.430 10.000 190.679 225.000
112.943 12.749 3.180 12.000 176.763 300.000
B*® -72.521 10.826 2.376 10.000 161.883 225.000
-67.228 10.826 2.203 12.000 150.068 300.000
C 80.772 10.826 2.646 10.000 180.302 225.000
72.574 10.826 2.378 12.000 162.002 300.000
D 72.239 10.826 2.367 10.000 161.254 225.000
65.527 10.826 2.147 12.000 146.272 300.000
E 120.398 12.749 3.389 10.000 188.430 225.000
109.212 12.749 3.075 12.000 170.923 300.000
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O
_ Sh
ThS g = te
T, (N/mm?)
S, ()
d (mm)
b (mm)
T (N/mm?)
a=C Cpt T 4"
a (N/mm?)
Ce
d(mm) | 300 1,000 3,000 5,000 10,000
Ce 1.4 1.0 0.7 0.6 0.5
Cpt: Pt ( )
PL(%) 0.1 0.2 0.3 0.5 |1.0
Cpt 0.7 0.9 1.0 1.2 1.5
(N/mm?)
Si(kN) d (cm) 1 T o T | Ce |Cpt
75.078 60.000 0.125 0.272 2.130 1.23 1 0.76
83.557 60.000 0.139 0.329 2.550 1.23 1 0.76
142.663 60.000 0.238 0.314 2.130 1.23|0.88
132.252 60.000 0.220 0.379 2.550 1.2310.88
82.758 60.000 0.138 0.272 2.130 1.23|0.76
74.359 60.000 0.124 0.329 2.550 1.23|0.76
82.758 60.000 0.138 0.272 2.130 1.23 1 0.76
74.359 60.000 0.124 0.329 2.550 1.23|0.76
165.517 60.000 0.276 0.314 2.130 1.23|0.88
148.717 60.000 0.248 0.379 2.550 1.23 1 0.88
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6.3 ( )
6.3.1
= A A Pa f =
h B 2 . \Pb__ ¥ ¥ ]
E - C _ 4 - - Pc Q
e N P ‘&0
ﬂ) i
2250 | 2250 4 500
9 000
@
A
1
Pa’ = — {@+ yr+hl) + (@+ yr-h2)} +Ka-hA+cosd = 140.779 (kN)

1
Pb = — {ta+ yr-n3) + (@+ yr-hd)} -Ka-hB-cosd = 167.373 (kN)

c
1
P’ = — {@+ yr+h5) + (@+ yr-h6)} <Ka-hC+cosd =217.120 (kN)
Pa = Pa"/ha = 18.597 (kN)
Pb = Pb*/hb = 37.194 (kN)
Pc = Pc"/hc = 48.249 (kN)
B OWE 5 Pl = (qg+ yr+h2) «Ka-cosd = 37.194 (kN)
B FREBR L DOWIESJO7EP2 = (@ + yr-h6) -Ka-cosd — Pl =22.110 (kN)
@)
1
Ph=td yc Kh=4.410 (kN)
2)
A
1
Pa’ = — {@+ yrehl) + (@+ yr-h2)} -Ka-hA+cosd =223.489 (kN)
B
1
PbT = {@+ yr+h3) + (@+ yr-ha)} +Ka-hB~cosd = 265.707 (kN)
c

1
Pe’ = o {@+ yr+h5) + (@+ yr-h6)} +Ka+hC+cosd = 344682 (kN)

3)
Pa = Pa"/hatPh = 33.933 (kN)
Pb = Pb*/hb+Ph = 63.456 (kN)
Pc = Pc*/hctPh = 81.006 (kN)
B D WriE /) Pl = (q + yr+h2) *Ka+cosd+Ph = 63.456 (kN)
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HFAELBEEOWHEIIODEP2 = (9 + yr-h6) Ka+cosd + Ph — Pl = 35.100

1: (m ,I =9.000
hli : A ( )(m) ,hl = 0.000
h2 : A ( (M) ,h2 = 7.570
h3 : B ( )(m) ,h3 = 5.320
h4 : B ( (M) ,h4 = 9.820
h5 : C ( )Y(m) ,h5 = 7.570
h6 = C ( (M) ,h6 = 12.070
hA 1 A (m) ,hA = 7.570
hB : B (m) ,hB = 4.500
hC : C (m ,hC = 4.500
ha : A (m) ,ha = 7.570
hb : B (m) ,hb = 4.500
hc : C (m) ,hc = 4.500
td : (m) ,td = 0.900
q: (kN/m?) , g = 0.000
, = 0.000
Ka : , Ka = 0.251
, Ka = 0.390
> ) , 5 =11.667
, o = 0.000
y r: (KN/m®) ,y r = 20.000
y c: (kN/m®) ,Y ¢ = 24.500
Kh : ,kh = 0.200
M S
(kN.m) (kN) a (s
A 150.635 83.686 1.000 1.000
274.857 | 152.698 1.000 1.000
A" 62.765 0.000 1.000 | —
114.524 |  0.000 |  1.000 | ——
B 210.889 | 167.373 0.700 1.000
359.796 | 285.552 0.700 1.000
B*® 125.529 0.000 1.000 | —
214.164 |  0.000 |  1.000 | ——
C 156.326 | 108.560 0.400 0.500
262.459 | 182.264 0.400 0.500
D 135.363 | 108.560 0.300 0.500
228.286 | 182.264 0.300 0.500
E 225.605 | 217.120 0.500 1.000
380.477 | 364.527 0.500 1.000

(kN)
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6.3.2
@
DA
LIS |
v
N
(cm) (cm’/ ) (cm®)
1 - N
2 - N
1 10.0 D22 3.871 4.00 15.48
| — | —
(cm) e/ ) (cm?)
50.0 D13 1.267 4.00 5.07
2)A"
LIS |
) £
N

[B{Z : mm]

[B{Z : mm]
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(cm) (cm’/ ) (cm®)
1 10.0 D16 1.986 4.00 7.94
2 - N
| — | —
2 | — | —
(cm) (cm’/ ) (cm?)
50.0 D13 1.267 4.00 5.07
3)B
LIS |
v
N
(cm) (cm’/ ) (cm®)
1 - N
2 - N
1 10.0 D25 5.067 4.00 20.27
2 | — | —
(cm) (cn’/ ) (cm®)
50.0 D13 1.267 4.00 5.07

[B{Z : mm]
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4)B"
B S ]
. g
N
(cm) (cm’/ ) (cm?)
1 10.0 D19 2.865 4.00 11.46
2 - N
| — | —
2 | — | —
(cm) (cm’/ ) (cm?)
50.0 D13 1.267 4.00 5.07
5)C
LIS |
v
N

[B{Z : mm]

[BEAZ : mm]
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(cm) (cm’/ ) (cm®)
l - N
2 - N
1 10.0 D22 3.871 4.00 15.48
2 | — | —
(cm) (cm’/ ) (cm?)
50.0 D13 1.267 4.00 5.07
6)D
LIS |
v
N
(cm) (cm’/ ) (cm®)
1 - N
2 - N
1 10.0 D19 2.865 4.00 11.46
2 | — | —
(cm) (cn’/ ) (cm®)
50.0 D13 1.267 4.00 5.07

[B{Z : mm]
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NE
B S ]
1’ @
- [BEAZ : mm]
N
(cm) cn/ ) (cm?)
l N
2 N
1 10.0 D25 5.067 4.00 20.27
2° —
(cm) (cm’/ ) (cm?)
50.0 D13 1.267 4.00 5.07
@
N
Mc = Zc (O-bt-!_A_c)
M (N.mm)
Z. (mm®), Z. = b h/6 = 135000.0x 10°
O o (N/mm?), O e = 0.230 «°
O « (N/mm?), o « = 24.00
N (N), N=0.0
A. (mm*), A. = b h = 900000.000
b (mm)
h (mm), h = 900.000
M M
x 1.7
(cm®) (kN.m) (kN.m) (cm®)
A 15.484 256.080 258.346 5.000
15.484 467.257 > 258.346 9.476
A" 7.944 106.700 258.346 5.000
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M M
x 1.7
(cm?) (kN.m) (kN.m) (cm®)
7.944 194.691 258.346 5.000
B 20.268 358.512 > 258.346 9.476
20.268 611.652 > 258.346 9.476
B*® 11.460 213.400 258.346 5.000
11.460 364.079 > 258.346 9.476
C 15.484 265.755 >  258.346 9.476
15.484 446.181 >  258.346 9.476
D 11.460 230.117 258.346 5.000
11.460 388.087 >  258.346 9.476
E 20.268 383.528 >  258.346 9.476
20.268 646.811 > 258.346 9.476
©)
« )
2+n , ,
X = {As’ « (x=d")+As + (x=d)}=0.0
L VxERDD,
M
[ ) ’
bex [h x o Gd) - (h/2-d) (x=d) + (h/2-d)
———|+n - As’ - +n - As -
2 2 X X
d-x
O — N Oc¢*
X
X (mm)
h (mm), h = 900.000
b (mm), b = 1000.000
d (mm)
d- (mm)
As (mm?)
As" (mm?)
n , h =15.00
e (mm)
ocC (N/mm?)
os (N/mm?)
M (N.mm)
M X (N/mm?) (N/mm?)
(kN.m) (cm)
A 150.635 17.095 2.372 8.000 130.930 180.000
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M x (N/mm*) (N/mm?)
(kN.m) (cm)
274857 17.095 4.328 12.000 238.902 300.000
A" -62.765 12.667 1.308 8.000 104.265 180.000
-114.524| 12.667 2.386 12.000 190.247 300.000
B 210.889 19.226 2.982 8.000 141.382 180.000
359.796 19.226 5.087 12.000 241.210 300.000
B* -125.529  14.952 2.238 8.000 146.024 180.000
-214.164) 14.952 3.818 12.000 249.129 300.000
C 156.326 17.095 2.462 8.000 135.877 180.000
262.459 17.095 4.133 12.000 228.126 300.000
D 135.363 14.952 2.413 8.000 157.462 180.000
228.286 14.952 4.070 12.000 265.557 300.000
E 225.605 19.226 3.190 8.000 151.247 180.000
380.477 19.226 5.380 12.000 255.075 300.000
O)
_ Sh
Th= g = T
T, (N/mm?)
Sh N)
d (mm)
(mm)
T (N/mm?)
Ta=C Cpt Ta"
T a (N/mm?)
Ce
d(mm) | 300 1,000 3,000 5,000 10,000
Ce 1.4 1.0 0.7 0.6 0.5
Cpt: Pt ( )
PE(%) 0.1 0.2 0.3 0.5 |1.0
Cpt 0.7 0.9 1.0 1.2 1.5
(N/mm?)
Si(kN) d (cm) T T a T=| Ce |Cpt
A 83.686 80.000 0.105 0.227 1.700 |1.11/0.89
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(N/mm?)
Si(kN) d (cm) 1 T a T | Ce |Cpt
152.698 80.000 0.191 0.346 2.550 1.11|0.89
B 167.373 80.000 0.209 0.244 1.700 1.11 1 0.95
285.552 80.000 0.357 0.372 2.550 1.11]0.95
C 108.560 80.000 0.136 0.227 1.700 1.11 1 0.89
182.264 80.000 0.228 0.346 2.550 1.11 1 0.89
D 108.560 80.000 0.136 0.202 1.700 1.11]0.79
182.263 80.000 0.228 0.307 2.550 1.11 1 0.79
E 217.120 80.000 0.271 > 0.244 1.700 1.11 1 0.95
364.527 80.000 0.456 > 0.372 2.550 1.11]0.95
®)
1.156 S, *s
W =
O d
Sh' = Sh—Sca
Aw : s (mm?)
St S (N)
Sh )
Sca: Q)
Sca=1Ta4 b d
T ar (N/mmz)
d (mm)
b (mm)
s (mm)
O s (N/mm?*)
(cm?)
Sh(kN) d (cm) T o(N/mm?) | Sca(kN) | S."(kN)
E 217.120 80.000 0.244 | 195.464 21.656 0.865 5.068
364.527 80.000 0.372 | 297.445 67.082 1.607 5.068

FORUMS8




- 84 -

6.4 ( )
6.4.1
= A A Pa : f =
h B . |Pb I —t =
E S C _ 7 - - Pc 2
o // N . ‘&0
2250? 2 250 i 4 500
9 000
€))
1)
Ph=td yc Kh=3.430 (kN)
2)
A
1T ’
Pa’ = | [@+ yr-hl) + (@+ yr-h2)} -Ka-hA+cosd | = 111.745 (kN)
B
11 .
O {@+ yr+h3) + (@+ yr-h4)} *Ka+hB-cosd | = 132.854 (kN)
C
11 .
P = | {@+ yr+h5) + (@+ yr-h6)} Ka+hC-cosd | = 172.341 (kN)
3)
Pa = Pa"/ha+Ph = 18.191 (kN)
Pb = Pb*/hb+Ph = 32.953 (kN)
Pc = Pc*/hc+Ph = 41.728 (kN)
1
BALO Wi /) PL= — [ @+ yr-h2) -Ka-cosd) + Ph= 32,953 (kN)
1
BT LB & DWIE I DFEP2 = [ (@+ yr+hB) Ka-cosd| +Ph - Pl= 17.550 (kN)
1: () ,1 = 9.000
hl : A ( )(m) ,hl = 0.000
h2 - A ( )(@m) ,h2 = 7.570
h3 : B ( )(m) ,h3 = 5.320
h4 : B ( (M) ,h4 = 9.820
h5 : C ( )(m) ,h5 = 7.570
h6 : C ( (M) ,h6 = 12.070
hA : A m ,hA = 7.570
hB : B ) ,hB = 4.500
hC : C m ,hC = 4.500
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ha : A (m) ,ha = 7.570
hb : B (m) ,hb = 4.500
hc : C (m) ,hc = 4.500
td : (m) ,td = 0.700
g : (kN/m?) , q = 0.000
Ka : , Ka = 0.390
> ) , & =0.000
y r: (kN/m®) ,y r = 20.000
y c: (kN/m*) ,Y € = 24.500
Kh : ,kh = 0.200
M S
(kN.m) (kN) al s
A 147.351 81.862 1.000 1.000
A" 61.396 0.000 1.000 | —
B 186.844 | 148.289 0.700 1.000
B*® 111.216 0.000 1.000 | —
C 135.199 93.888 0.400 0.500
D 117.864 93.888 0.300 0.500
E 196.440 | 187.776 0.500 1.000
6.4.2
@
1A
JES
v
GG
(cm) (cm’/ ) (cm?)
10.0 D19 2.865 4.00 11.46

[BEA7: mm]
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2)A"
JE AR
v
- [B{7 : mm]
SRl
(cm) (cm’/ ) (cm®)
1 - N
2 - N
1 10.0 D16 1.986 4.00 7.94
" | — | —
3)B
JE A0
v
- [EA{ - mm]
SRl
(cm) (cm’/ ) (cm®)
1 - N
2 - N
1 10.0 D19 2.865 4.00 11.46
2 | — | —
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4)B"
JE AR
v
- [B{7 : mm]
SRl
(cm) (cm’/ ) (cm®)
1 - N
2 - N
1 10.0 D16 1.986 4.00 7.94
" | — | —
5)C
JE A0
v
- [EA{ - mm]
SRl
(cm) (cm’/ ) (cm®)
1 - N
2 - N
1 10.0 D19 2.865 4.00 11.46
2 | — | —
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6)D
JE AR
v
- [ : mm]
SRl
(cm) (cm’/ ) (cm®)
1 - N
2 - N
1" 10.0 D16 1.986 4.00 7.94
" | — | —
7E
JE A0
v
- [EA{ - mm]
SRl
(cm) cn/ ) (cm?)
l PR P
2 PR P
1 10.0 D22 3.871 4.00 15.48
2 | — | —
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@
N
Mc = Zc * o bt+A_C
M. (N.mm)
Z. (mm®), Z. = b h*/6 = 81666.7x 10°
O o : (N/mm?), O w = 0.230 «°
O « : (N/mm?), o « = 24.00
N (\), N =0.0
A. (mm?), A = b h = 700000.000
b (mm)
h (mm), h = 700.000
M M.
x 1.7
(cm®) (kN.m) (kN_m) (cm®)
A 11.460 250.497 > 156.284 7.648
A" 7.944 104.374 156.284 5.000
B 11.460 317.634 > 156.284 7.648
B*® 7.944 189.068 > 156.284 7.648
C 11.460 229.838 > 156.284 7.648
D 7.944 200.369 > 156.284 7.648
E 15.484 333.948 > 156.284 7.648
©)
« )
2 * n b b
X {As’ + (x=d")#As + (x=d) }=0.0
L 0x%ERD D,
M
[ ) ’
bx [h x o Gd) - (h/2-d) (x=d) + (h/2-d)
s (=== ]+n + AS” - n e As
2 2 3 X X
d—x
O — N Oc¢*
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X (mm)

h (mm), h = 700.000

b (mm), b = 1000.000

d (mm)

d- (mm)

As (mm?)

As*® (mm?)

n , h=15.00

e (mm)

oc (N/mm?)

oS (N/mm?)

M (N.mm)

M X (N/mm*) (N/mm?)
(kN.m) (cm)

A 147.351 | 12.749 4.148 12.000 230.614 300.000
A" 61.396 | 10.826 2.012 12.000 137.051 300.000
B 186.844 | 12.749 5.260 12.000 292.422 300.000
B*® 111.216 | 10.826 3.644 12.000 248.261 300.000
C 135.199 | 12.749 3.806 12.000 211.595 300.000
D 117.864 | 10.826 3.862 12.000 263.100 300.000
E 196.440 | 14.535 4.902 12.000 230.005 300.000

FORUMS8
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®
Sh
Tha = = T al
b-d
T, (N/mm?)
Sh ()
d (mm)
b (mm)
T (N/mm?)
a =0 Cpt T 4"
a” (N/mm®)
Ce
d(mm) | 300 1,000 3,000 5,000 10,000
Ce 1.4 1.0 0.7 0.6 0.5
Cpt: Pt ( )
PL(%) 0.1 0.2 0.3 0.5 |1.0
Cpt 0.7 0.9 1.0 1.2 1.5
(N/mm?)
SiCkN) d (cm T L T | Ce |Cpt
81.862 60.000 0.136 0.379 2.550 1.2310.88
148.289 60.000 0.247 0.379 2.550 1.23 10.88
93.888 60.000 0.156 0.379 2.550 1.23|0.88
93.888 60.000 0.156 0.329 2.550 1.23 1 0.76
187.776 60.000 0.313 0.412 2.550 1.23|0.96

FORUMS8
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6.5T [1]
0.000 (m)
’_}
HH
[ B AL : mm]
6.5.1
@
1)
] 5
1
5
3
2)
(m
- Vi Xi Vi Yi
x x viamy 1 xi vi
1 1.050x 1.830x 21.400 41.120 | 1.675 | 11.155 68.876 | 458.695
2 0.550x 1.130x 21.400 13.300 | 1.425 | 12.635 18.953 | 168.047
3 2.200x 10.240x 21.400 482.099 | 1.100 | 5.120 | 530.309 | 2468.348
4 0.700x 12.070x 21.400 180.809 | 11.550 | 6.035 | 2088.339 | 1091.180
5 9.000x 12.070x  3.200 347.616 | 6.700 | 6.035 | 2329.027 | 2097.862
6 10.200x 0.610x 21.400 133.151 | 6.800 | 12.375 | 905.425 | 1647.740
> 1198.095 | — — | 5940.928 | 7931.871
X6 = X (Vi Xi)/Z Vi = 5940.928/1198.095 = 4.959 (m)
Y6 = = (Vi Yi)/Z Vi = 7931.871/1198.095 =  6.620 (m)

FORUMS8
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@)
1)
{I ]
| I—l r‘|
[ I
[ I
P 1
| | I
| | I
| | I
| | I
| | [
| | I
| | I
| | I
| | [
| | I
| | I
| | I
| | I
| | I
| | I
| | I
| | I
L D]
I__J____J _________________ 1]
| I
b J
2)
(m)
% % Vi(m) g vi Vi Xi Vi Vi
1 10.200x 0.520x 21.400 113.506 | 6.800 | 12.940 | 771.839 | 1468.764
z 113.506 | —— — 771.839 | 1468.764
X6 =X (Vi Xi)/Z Vi = 771.839/ 113.506 = 6.800 (m)
Y6 = X (Vi Yi)/Z Vi = 1468.764/ 113.506 = 12.940 (m)
6.5.2 , ’
@ ( )
W=y V= 24.500 x 1198.095 = 29353.318 (kN)
X = 4.959 (m)
H=W kh = 29353.318 x 0.200 = 5870.664 (kN)
Y= 6.620 (m)
@
[1] )
Rv = 3000.000 (kN)
X = 5.375 (m)
Mx = Rv X = 3000.000 5.375 = 16124.999 (m)
)
RH = 1500.000 (kN)
Y = 10.240 (m)
My = RH Y = 1500.000 10.240 = 15360.000 (m)

FORUMS8
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B
X = E—(BR—XR) = 5.950-0. 575 = 5. 375 (m)
B :
BR:
XR:
Y = YZ+YR = 10.240+0.000 = 10.240 (m
YZ:
YR:
6.5.3
€Y
y w(kN/m®) 9.800
Bc (m) 21.400
hr  (m) 0.000
C (kKN/m?) 0.000
@
[1] ( )
1)
q (kN/m?) 0.000
HL  (m) 13.000
H2  (m) 0.200
Hs (m) 0.200
0. 000
p
E X1
88: 84891

FORUMS8
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2)
1
(@) HU(m) 13.200
) HL(m) 0.000
h1(m) 13.000
h2(m) 0.200
hs(m) 0.200
hr(m) 0.000
) ] 0.000
() 5 0.000
« ) (kN/m) vyt 20.000
( y sat 21.000
x ) Xp 5.950
(@) Kul 0.35400
() KI1 0.35400
(@) Ku2 0.35400
) K12 0.35400
[11 () 0.000
21 () 92.040
3] (@) 92.040
41 () 92.833
Pel = (1/2) ([1]+[2D) hl Bc 12802.764
Pe2 = (1/2) ([31+[4]) h2 Bc 395.628
Pe = Pel+Pe2 13198.392
Peh = Pe cos(d +6 ) ( ) 13198.392
Y1 = (2 [11+[2]) h1/{3 ([1]+[2])}+h2+HL+hr 4.533
Y2 = 2 [B1+[4]) h2/{3 ([31+[4]D}+HL+hr 0.100
Y = (Pel Y1+Pe2 Y2)/pe 4.400
Y (Peh * Y)
Y= ———— = 4.400(m)
> Peh
Ph = Y Peh = 13198. 392 (kN)
(€))
[1] ( )
h (m 0.200
(kN/m? | [1]yw h 1.960
(N) | Pw=(1/2) [1]1 h Bc 4.194
m | Yw=h/3 0.067

FORUMS8
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6.5.4
@
[1] )
! Hi X Y, M =Mo+M,
(kN) (kN) (m) (m) (kN.m)
29353.318 | 5870.664 0.991 6.620 | 67965.670
2270.114 363.218 -0.850 12.940 | 2770.446
3000.000 | 1500.000 5.375 10.240 | 31484.999
0.000 | 13198.392 0.000 4.400 | 58078.703
0.000 4.194 0.000 0.067 0.280
34623.434 | 20936.469 — 160300.094
@
3.675 (m)
6.400 (m)
1)
( ) Ni Hi M
(kN) (kN) (kN.m)
) 5945.847 | 3595.398 | 27528.170
2)
( ) Ni Hi M
(kN) (kN) (kN-m)
) 10354.672 | 6261.374 | 47940.215
6.5.5
@
1

3917

11 800
11 900

140

FORUMS8
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(cm) (cm’/ ) (cm®)
l - N
2 - N
1" 10.0 D38 11.400 7.20 82.08
2 | — | —
(cm) (cn’/ ) (cm®)
50.0 D19 2.865 4.00 11.46
2)
6699
21 =/ =2
(cm) (cm’/ ) (cm®)
l - N
2 - N
1 10.0 D41 13.400 5.60 75.04
2" 15.0 D41 13.400 5.60 75.04
(cm) (cn/ ) (cm)
50.0 D19 2.865 4.00 11.46

FORUMS8
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@
N
Mc = Zc ( o bt+_)
A
M. (N.mm)
Z. (mm®), Z. = 28883422.0x 10°
O o : (N/mm?), O w = 0.230 «°
O « : (N/mm?), o « = 24.00
N (N), N=0.0
A (mm®), A. = 17347400.000
b (mm)
h (mm), h = 11900.000
1
M M.
( ) x 1.7
(cm?) (kN.m) (kN.m) (cm?)
( ) 82.080 46797.891 55273.549 19.585
2)
M M.
( ) x 1.7
(cm?) (kN.m) (kN.m) (cm?)
( ) 150.080 | 81498.281 > 47984.517 118.297
©)
1
( ) M N X (N/mm?) (N/mm?)
(kN.m) (kN) (cm)
( ) 27528.170 0.000 83.018 1.468 12.000 291.056 300.000
2)
( ; " N X (N/mm?) (N/mm?)
(kN.m) (kN) (cm)
( ) 47940.215 0.000 85.633 1.454 12.000 278.664 300.000

FORUMS8
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®
T . d = T al
T, (N/mm?)
Sh N)
d (mm)
b (mm)
T a (N/mm?)
Ta=Ce Cpt CN T 4"
M,
CN:1+E (1 =N =2
T a - (N/mmz)
Ce
d(mm) | 300 1,000 3,000 5,000 10,000
Ce 1.4 1.0 0.7 0.6 0.5
Cpt : Pt ( )
PE(%) 0.1 0.2 0.3 0.5 |1.0
Cpt 0.7 0.9 1.0 1.2 1.5
CN
M,
(N.mm)
1)
(N/mm?)
)
Si(kN) d (cm) T T a T 2 Ce |Cpt | CN
) 3595.398 1180.000 0.339 > 0.115 2.550 0.50 | 0.65 | 1.00
2)
(N/mm?)
)
Si(kN) d (cm) T T a T« Ce | Cpt CN
) 6261.374 1177.500 0.760 > 0.151 2.550 0.50 | 0.86 | 1.00

FORUMS8
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®
1L15+S, *s
yoo e S
T d
Sh- = Sh—Sca
Aw : s (mm?)
S : s )
Sy = (N)
Sca: )
Sca=1a4 b d
T al (N/mmz)
d (mm)
b (mm)
S (mm) s = 500.00
O (N/mm?)
1)
(cm)
( ) SCKN) | d (em) | T «(Vmm) | Sca(kN) | S.(kN)
( ) 3595.398 | 1180.000 0.115 | 1216.530 | 2378.868 3.864 11.460
2)
(cm?)
( ) S(kN) | d (em) | T «(Vmm)| Sca(kN) | S.(kN)
( ) 6261.374 | 1177.500 0.151 | 1246.499 | 5014.875 8.163 11.460

FORUMS8
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7
7.1
7.1.1
(€D)
1)
L
[ r'|
[ [
- h
| | [
| | [
| | [
| | [
| | [
| | [
| | [
| | [
| | [
| | [
| | [
| | [
| | [
| | [
| | [
______________ 1
. |
|
___________________ |
2)
Vi Xi Vi Xi
8 8 (m) (m)
1 1.500x 1.800x 21.400 57.780 0.750 | 43.335
b2 57.780 | ——— 43.335
X6 = X (Vi Xi)/Z Vi = 43.335/57.780 = 0.750 (m)
7.1.2 , , ,
(€))
W=y V= 24.500 x 57.780 = 1415.610 (kN)
X = 0.750 (m)
(@) ,
[1] ( )
1
Hf = 1.000 (m)
Hr = 2.000 (m)
Pf = 9.800 (kN/m?)
Pr = 10.897 (kN/m?)
Pf+Pr ,
U = ) «Bj+Bc = 332,187 (kN)

FORUMS8
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( )
PF+2 « Pr .
X=——+Bj=0.737 (w
3« (Pf+Pr)
Bj : Bj = 1.500 (m)
Bc : Bc = 21.400 (m)
7.1.3
1
N = E(QI+Q2> +-L-+B
_ 2-+ql+g2
3+ (ql+q2)
ql :
g2 :
: L = 1.500 (m)
B = 21.400 (m)
[1] ( )
517.992 ‘ (kN/m)
0l 02 N (kN) X (m)
~ost 582.621 517.992 | -17664.844 0.765
13. 400
7.1.4
[1] ( )
N; Xi M =N X
(kN) (m (kN.m)
-1415.610 0.750 -1061.708
332.187 0.737 244 .739
17664 .844 0.765 13507.958
16581.420 E— 12690.989
774.833 E— 593.037

FORUMS8
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540000x 10°

7.1.5
@
i
v
= [BAL : mm]
[
(cm) @/ ) (cm’)
10.0 D22 3.871 4.00 15.484
@
N
Mc Zc * (obt+_)
A
M (N_.mm)
Z. (mm®), Z. = b h/6 =
O o (N/mm?), O w = 0.230 «°
O « : (N/mm?), o « = 24.00
N (N), N = 0.0
A. (mm*), A. = b h = 1800000.000
b (mm)
h (mm), h = 1800.000
M M.
x 1.7
(cm®) (kN.m) (kN.m) (cm®)
) 15.484 | 1008.163 1033.386 5.000
1.7

5.0

5.0

FORUMS8
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©))
« )
2+n , ,
X {As’ + (x=d")#As + (x=d) }=0.0
L 0x%ERD D,
_ M
T hex b ox C ed) - (h/2d) (x=d) + (h/2-d)
s (=== ]+n + AS” - n e As
2 2 3 ) X X
d—x
O — N Oc¢*
X
X (mm)
h - (mm), h = 1800.000
b : (mm), b = 1000.000
d (mm)
d (mm)
As (mm?)
As® (mm?)
n , h=15.00
e (mm)
ocC (N/mm?)
oS (N/mm?)
M (N.mm)
" X (N/mm?) (N/mm?)
( ) (kN.m) (cm)
( ) 593.037 25.884 2.842 12.000 237.320 300.000
7.2 [1]
0.650 (m)
F
1
= |
;650 [BEA7L : mm]

FORUMS8
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7.2.1

€Y)
)

2)

7.2.2
€Y

@

[1]

e
= =
L] ]
I_L—l [
| | [
| | [
| | [
| | [
| | [
| | [
| | [
| | [
| | [
| | [
| | [
| | [
| | [
B |
I J_I
1
II ____________________ |
Vi Xi Vi Xi
X X 3
() (m)
1 0.850x 1.800x 21.400 32.742 0.425 | 13.915
32.742 | ——— 13.915

D

X6 = = (Vi Xi)/Z Vi = 13.915/32.742 = 0.425 (i)

Y V= 24.500 x 32.742
0.425 (m)
Hf = 1.000 (m)
Hr = 2.000 (m)
Pf = 9.800 (kN/m?)
Pr = 10.422 (kN/m?)
Pf+Pr

5 *Bj - Bc = 183.916

(kN)

= 802.179 (KN)

FORUMS8
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( )
Pf+2 « Pr )
X=————+Bj=0.421 (m)
3« (Pf+Pr)
Bj : Bj = 0.850 (m)
Bc : Bc = 21.400 (m)
7.2.3
1
N = E(QI+Q2> +-L-+B
_ 2-+ql+g2
3+ (gl+q2)
ql :
g2 :
: L =0.850 (m)
B =21.400 (m)
[1] ( )
545. 998 ‘ (kN/mz)
JU ql @ N (kN) X (m)
2.621 582.621 545.998 -10264.793 0.430
13. 400
7.2.4
[1] ( )
Ni Xi M :Ni Xi
(kN) (m (kN.m)
-802.179 0.425 -340.926
183.916 0.421 77.363
10264.793 0.430 4409.725
9646.530 | ——— 4146.162
450.772 | — 193.746
7.2.5
0.650 (m)

FORUMS8
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@
M
a > 2.5dDEFPA S= S———tand
a 2.5d Sh =S
Sh )
d (mm)
d- (mm)
b (mm)
S N)
M (N.mm)
0 , 0 =0.000 , tan@ = 0.000
a (mm)
S M Sh
) d" 2.5 d a M/d*  tan®
(cn) () (kN) (kN.m) (kN)
) 170.000 425.000 76.537 450.772 | 193.746 0.000 450.772
Sh
Ty = 5 = T al
+d
T (N/mm?)
Sh )
d (mm)
d- (mm)
b (mm)
S )
ar (N/mm?)
a«=C Cpt Cdc T «F
a” (N/mm?)
Ce
d(mm) | 300 1,000 3,000 5,000 10,000
Ce 1.4 1.0 0.7 0.6 0.5
Cpt: Pt ( )
Pt(%) 0.1 0.2 0.3 0.5 |1.0
Cpt 0.7 0.9 1.0 1.2 1.5
Cdc:
a/d 0.5 1.0 1.5 2.0 2.5
Cdc 6.4 4.0 2.5 1.6 1.0

FORUMS8
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(N/mm?)
Si(kN) d*(cm) T T a T Ce |Cpt |Cdc
450.772 170.000 0.265 1.368 2.550 |0.89|0.68 | 6.40

FORUMS8
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8.1
@

@
[1]

[2]

8.2

[1]

2(

W \

=y
(KN/m?)

1.800 x 24.500 = 44.100

2(

)
Wu=Vu ( Wl = VI
(kN/m*) (kN/m?)
12.070 x 20.000 = 241.400 0.000 x 21.000 = 0.000
W
Wu + Wi
(KN/m*)
241.400
) ( )
Wu =Vu ( Wl = VI
(kN/m?) (kN/m?*)
10.070 x 20.000 = 201.400 2.000 x 21.000 = 42.000
W
Wu + Wi
(kN/m?)
243.400
10 450
CE BE A Bh Ch
d ¢
N I I s
\\ } } //
DE.F,,,N\ /M,,,J)b
§ E \\\ Bt A B’b/ s
***jﬂ/ \Nj***
o AN
S TN
[ [

FORUMS8
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€))
p2f Pcf PLf Pa P1b Pcb P2b
KN/ (kN/m) (kN/m) (KN/TT) (kN/) (kN/m) (KN/m)
44.100 44.100 44.100 44.100 44.100 44.100 44.100
241.400 | 241.400 | 241.400 | 241.400 | 241.400 | 241.400 | 241.400
-334.583 | -331.854 | -329.125 | -326.316 | -323.508 | -320.779 | -318.050
49.083 | -46.354 | -43.625 | -40.816 | -38.008 | -35.279 | -32.550
@
(km.m) (ﬁN) KM KS
A -194.326 | -140.816 1.000 |  1.000
A" ~80.969 0.000 1.000 | ——
BF -145.387 | -150.505 0.700 |  1.000
Bb _126.669 | -131.128 0.700 |  1.000
B"f ~86.540 0.000 1.000 | ——
B"b -75.308 0.000 1.000 | ——
cf -88.276 | -79.960 0.400 |  0.500
Cb 67.185 | -60.856 0.400 |  0.500
DF 81.134 | -79.960 0.300 |  0.500
Db 64.610 | -60.856 0.300 |  0.500
Ef ~135.224 | -159.920 0.500 |  1.000
Eb -107.684 | -121.712 0.500 |  1.000
[2] )
€))
p2f Pcf PLf Pa P1b Pch P2b
(kN7 (KN/m) (KN/m) (KN/) (kN/) KN/ KN/
44.100 44.100 44.100 44.100 44.100 44.100 44.100
241.400 | 241.400 | 241.400 | 241.400 | 241.400 | 241.400 | 241.400
_481.302 | -408.178 | -335.055 | -250.812 | -184.569 | -111.446 | -38.323
-195.802 | -122.678 | -49.555 25.688 | 100.931 | 174.054 | 247.177

FORUMS8
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@
(km.m) (EN) KM KS
A 122.300 88.623 1.000 |  1.000
A" 50.958 0.000 1.000 | ——
BF _165.152 | -170.965 0.700 |  1.000
Bb 336.372 | 348.211 0.700 |  1.000
B*f ~98.305 0.000 1.000 | ——
B*b 200.221 0.000 1.000 | ——
cf 233.629 | -211.620 0.400 |  0.500
Cb 331.469 | 300.243 0.400 |  0.500
DF ~175.509 | -211.620 0.300 |  0.500
Db 267.234 | 300.243 0.300 |  0.500
Ef 292.515 | -423.240 0.500 |  1.000
Eb 445.391 | 600.487 0.500 |  1.000
[3] )
€))
p2f Pcf PLf Pa P1b Pcb P2b
(KN (KN/m) (KN/m) KN/ (kN/) KN/ KN/
44.100 44.100 44.100 44.100 44.100 44.100 44.100
243.400 | 243.400 | 243.400 | 243.400 | 243.400 | 243.400 | 243.400
11.701 | -12.963 | -14.225 | -15.523 | -16.821 | -18.082 | -19.344
_470.597 | -396.273 | -321.950 | -245.472 | -168.994 | -94.670 | -20.346
194.799 | -121.737 | -48.674 26.506 | 101.686 | 174.748 | 247.810
@
(km.m) (ﬁN) KM KS
A 126.193 91.444 1.000 |  1.000
A" 52.580 0.000 1.000 | ——
BF ~162.217 | -167.926 0.700 |  1.000
Bb 338.887 | 350.815 0.700 |  1.000
B*f ~96.558 0.000 1.000 | ——
B*b 201.719 0.000 1.000 | ——
cf _231.835 | -209.995 0.400 |  0.500
Cb 332.789 | 301.440 0.400 |  0.500
DF ~173.864 | -209.995 0.300 |  0.500
Db 268.509 | 301.440 0.300 |  0.500
EF _289.774 | -419.991 0.500 |  1.000
Eb 447.515 | 602.880 0.500 |  1.000

FORUMS8
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8.3
@
DA
&=
1 |
1’ (=1
= [T : mm]
T M|
(cm) cn/ ) (cm?)
1 10.0 D16 1.986 4.00 7.94
2 - .
1 10.0 D16 1.986 4.00 7.94
" | — | —
(cm) (cm’/ ) (cm?)
50.0 D22 3.871 2.00 7.74
2)A"
&=
1 2
v
= [BEAZ : mm]
T M|

FORUMS8
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(cm) (cm’/ ) (cm®)
1 10.0 D16 1.986 4.00 7.94
2 - N
1 10.0 D16 1.986 4.00 7.94
2 | — | —
(cm) (cm’/ ) (cm?)
50.0 D22 3.871 2.00 7.74
3)Bf
+ @
1’ (=1
= [BEAZ : mm]
T M
(cm) (cm’/ ) (cm®)
l - N
2 - N
1 10.0 D16 1.986 4.00 7.94
| — | —
(cm) (cn/ ) (cm)
50.0 D22 3.871 2.00 7.74

FORUMS8
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4)Bb
&=
1 g
1’ =
= [B{Z : mm]
T m
(cm) (cm’/ ) (cm®)
1 10.0 D16 1.986 4.00 7.94
2 - N
1 10.0 D16 1.986 4.00 7.94
| — | —
(cm) (cm’/ ) (cm?)
50.0 D22 3.871 2.00 7.74
5)B"f
+ @
1 =1l
[BEAZ : mm]
T M

FORUMS8
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(cm) (cm’/ ) (cm®)
1 10.0 D16 1.986 4.00 7.94
2 - N
| — | —
2 | — | —
(cm) (cm’/ ) (cm?)
50.0 D22 3.871 2.00 7.74
6)B"b
+ @
1 |
1’ (=1
= [BEAZ : mm]
T M
(cm) (cm’/ ) (cm®)
1 10.0 D16 1.986 4.00 7.94
2 - N
1 10.0 D16 1.986 4.00 7.94
| — | —
(cm) (cm’/ ) (cm)
50.0 D22 3.871 2.00 7.74

FORUMS8
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7)CF
&=
1’ =
= [BEAZ : mm]
T
(cm) (cm’/ ) (cm®)
1 - N
2 - N
1" 10.0 D16 1.986 4.00 7.94
| — | —
(cm) (cm’/ ) (cm?)

50.0 D22 3.871 2.00 7.74

8)Cb

1600
1 800

Lo

[BfZ : mm]

FORUMS8
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(cm) (cm’/ ) (cm®)
1 10.0 D16 1.986 4.00 7.94
2 - N
1 10.0 D16 1.986 4.00 7.94
2 | — | —
(cm) (cm’/ ) (cm?)
50.0 D22 3.871 2.00 7.74
9)Df
+ @
1’ (=1
= [BEAZ : mm]
T M
(cm) (cm’/ ) (cm®)
l - N
2 - N
1 10.0 D16 1.986 4.00 7.94
| — | —
(cm) (cn/ ) (cm)
50.0 D22 3.871 2.00 7.74

FORUMS8
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10)Db
&=
1 g
1’ =
= [B{Z : mm]
T m
(cm) (cm’/ ) (cm®)
1 10.0 D16 1.986 4.00 7.94
2 - N
1 10.0 D16 1.986 4.00 7.94
| — | —
(cm) (cm’/ ) (cm?)
50.0 D22 3.871 2.00 7.74
11)EF
+ @
1’ =
= [BEAZ : mm]
T M

FORUMS8
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(cm) (cm’/ ) (cm®)
l N
2 N
1 10.0 D16 1.986 4.00 7.94
2° —
(cm) cn/ ) (cm)
50.0 D22 3.871 2.00 7.74
12)Eb
+ @
1 |
1’ (=1
= [BEAZ : mm]
T M
(cm) (cm’/ ) (cm®)
1 10.0 D19 2.865 4.00 11.46
2 N
1 10.0 D19 2.865 4.00 11.46
2° —
(cm) (cm’/ ) (cm)
50.0 D22 3.871 2.00 7.74

FORUMS8
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@
N
Mc = Zc * o bt+_
(%)
M. (N.mm)
Z; (mm®), Z. = b h/6 = 540000.0x 10°
O o : (N/mm?), O w = 0.230 «°
O « : (N/mm?), o « = 24.00
N (N), N=0.0
A. (mm*), A. = b h = 1800000.000
b (mm)
h (mm), h = 1800.000
DA
M M.
) x 1.7
(cm?) (kN.m) (kN.m) (c)
2( ) a 7.944 330.355 1033.386 5.000
2)A"
M M.
) x 1.7
(cm?) (kN.m) (kN.m) (c)
2( ) a 7.944 137.648 1033.386 5.000
3)Bf
M M.
) x 1.7
(cm’) (kN.m) (kN.m) (cm?)
) 7.944 280.758 1033.386 5.000
4)Bb
M M.
) x 1.7
(cm?) (kN_m) (kN.m) (cm?)
) 7.944 576.109 1033.386 5.000
5)B"f
M M.
) x 1.7
(cm?) (kN.m) (kN.m) (cm®)
) 7.944 167.118 1033.386 5.000

FORUMS8
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6)B"b
M M.
x 1.7
(cm?) (kN.m) (kN.m) (cm®)
7.944 342.922 1033.386 5.000
NCf
M M.
x 1.7
(cm?) (kN.m) (kN.m) (c’)
7.944 397.169 1033.386 5.000
8)Cb
M M.
x 1.7
(cm?) (kN.m) (kN.m) (c’)
7.944 565.742 1033.386 5.000
9)Df
M M.
x 1.7
(cm?) (kN.m) (kN.m) (cm?)
7.944 298.366 1033.386 5.000
10)Db
M M.
x 1.7
(cm?) (kN.m) (kN.m) (cm?)
7.944 456.465 1033.386 5.000
11)EF
M M.
x 1.7
(cm?) (kN.m) (kN.m) (cm®)
7.944 497.276 1033.386 5.000
12)Eb
M M.
x 1.7
(cm?) (kN.m) (kN.m) (c’)
11.460 760.776 1033.386 5.000

FORUMS8
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(©))
« )
2+n , ,
X {As’ + (x=d")#As + (x=d) }=0.0
L VxERDD,
M
[ ) ’
bex [h x o Gd) - (h/2-d) (x=d) + (h/2-d)
o [——|+n * As’ - +n * As
2 2 3) x
d-x
O — N Oc¢*
X
X (mm)
h (mm), h = 1800.000
b (mm), b = 1000.000
d (mm)
o (mm)
As (mm?)
As® (mm?)
n , h=15.00
e (mm)
ocC (N/mm?)
oS (N/mm?)
M (N.mm)
1)A
Y X (N/mm?) (N/mm?)
( ) (KN.m) (cm)
2( ) a -194.326 18.973 1.252 8.000 149.452 180.000
2)A"
" x (N/mm?) (N/mm?)
( ) (KN.m) (cm)
2( ) a 80.969 18.973 0.522 8.000 62.272 180.000
3)Bf
Y X (N/mm?) (N/mm?)
¢ (KN.m) (cm)
2( ) a -145.387 18.973 0.936 8.000 111.814 180.000

FORUMS8
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4)Bb
Y X (N/mm?) (N/mm?)
)
(kN.m) (cm)
) 338.887 18.973 .183 12.000 260.631 300.000
5)B"f
" (N/mm?) (N/mm?)
) X
(kN_m) (cm)
2( ) a 86.540 18.973 .557 8.000 66.556 180.000
6)B"b
" (N/mm?) (N/mm?)
) X
(kN.m) (cm)
) -201.719 18.973 .299 12.000 155.138 300.000
7Cf
" (N/mm?) (N/mm?)
) X
(kN.m) (cm)
) -233.629 18.973 .505 12.000 179.679 300.000
8)Cb
" (N/mm?) (N/mm?)
) X
(kN.m) (cm)
) 332.789 18.973 .144 12.000 255.942 300.000
9)DF
Y X (N/mm?) (N/mm?)
)
(kN.m) (cm)
) -175.509 18.973 .131 12.000 134.980 300.000
10)Db
" (N/mm?) (N/mm?)
) X
(kN_m) (cm)
) 268.509 18.973 .730 12.000 206.505 300.000
11)EF
" (N/mm?) (N/mm?)
) X
(kN.m) (cm)
) -292.515 18.973 .884 12.000 224.967 300.000

FORUMS8
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12)Eb
Y X (N/mm?) (N/mm?)
)
(kN.m) (cm)
) 447.515 22.522 2.447 12.000 240.310 300.000
*)
Sn
Tha = = T al
+d
T, (N/mm?)
Sh N)
d (mm)
b (mm)
T (N/mm?)
a=C0C Cpt 1 4"
a” (N/mm?)
Ce
d(mm) | 300 1,000 3,000 5,000 10,000
Ce 1.4 1.0 0.7 0.6 0.5
Cpt: Pt ( )
PE(%) 0.1 0.2 0.3 0.5 |1.0
Cpt 0.7 0.9 1.0 1.2 1.5
DA
(N/mnt)
)
Si(kN) d (cm) 1 T a T.| Ce |Cpt
2( ) a 140.816 170.000 0.083 0.122 1.700 0.89 | 0.59
2)Bf
(N/mn)
)
Si(kN) d (cm) 1 Ta T | Ce |Cpt
2( ) a 150.505 170.000 0.089 0.122 1.700 0.89 | 0.59
3)Bb
(N/mm?)
)
Si(kN) d (cm) 1 Ta T | Ce |Cpt
) 350.815 170.000 0.206 > 0.186 2.550 0.89 | 0.59

FORUMS8
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4HCF
(N/mm?)
Si(kN) d (cm) 1 Ta T | Ce |Cpt
211.620 170.000 0.124 0.186 2.550 |0.89|0.59
5)Cb
(N/mm?)
Si(kN) d (cm) T Ta T | Ce |Cpt
301.440 170.000 0.177 0.186 2.550 |0.89|0.59
6)Df
(N/mnt)
Si(kN) d (cm) T Ta T | Ce |Cpt
211.620 170.000 0.124 0.186 2.550 0.89 | 0.59
7)Db
(N/mm?)
Si(kN) d (cm) T T a T=| Ce |Cpt
301.440 170.000 0.177 0.186 2.550 ]0.89|0.59
8)EF
(N/mm?)
Si(kN) d (cm) 1 Ta T | Ce |Cpt
423.240 170.000 0.249 0.186 2.550 0.89 | 0.59
9)Eb
(N/mm?)
Si(kN) d (cm) T T a T=| Ce |Cpt
602.880 170.000 0.355 0.199 2.550 |0.89|0.63

FORUMS8
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®)
1.15+S - s
W= o
s d
Sh- = Sh—Sca
Aw : s (mm?)
St S N)
Sy - Q)
Sca: Q)
Sca=1a.4 b d
T al (N/mmz)
d : (mm)
b : (mm)
s (mm)
0w (N/mm?)
1)Bb
(cm)
) S(kN) | d (cm) A/ | Sca(kN) | St (kN)
) 350.815 | 170.000 0.186 | 316.032 34.783 0.392 7.742
2)EF
(cm?)
) Sn(kN) d (cm) a(N/mm?) | Sca(kN) | S»"(kN)
) 423.240 | 170.000 0.186 | 316.032 | 107.208 1.209 7.742
3)Eb
(cm?)
) Sw(kN) d (cm) a(N/mm?) | Sca(kN) | S."(kN)
) 602.880 | 170.000 0.199 | 338.059 | 264.820 2.986 7.742

FORUMS8
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9 ( )
9.1
{ ( / VB) ( a(a) Mo
ev= |32, /—] * + —
Vo 16 Vo
e : ( ) (M
ey = MB/VB
Vo : (kN)
Mo : (kN.m)
o o: (mrad)
Ve (kN)
Mg (kN.m)
a (mrad)
( ) Vo Mo ao Vs a e
(kN) (kN_.m) (mrad) (kN) (mrad) (m)
1( ) 88179.055 | 197066.641 0.724 | 88179.055 2.194 4.137
11( ) 84291.281 | 188686.141 0.693 | 84291.281 2.242 4.227
_ 2 VB
qlllaX LX
Orax - (kN/m?)
X o (m)
Ve o kN)
L (m) L =21.400
(kN/m?)
( ) (m) )
X B gmin gmax Hu(kN)
1 ( ) 7.689 0.000 1071.818 64009.352
1( ) 7.420 0.000 1061.663 62194.711

FORUMS8
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9.2
9.2.1 , )
@
W=y V= 24.500 x 57.780 = 1415.610 (kN)
X = 0.750 (m)
@ .
[2] H( )
1)
Hf = 1.000 (m)
Hr = 2.000 (m)
Pf = 9.800 (N/mm?)
Pr = 10.897 (N/mm?)
Pf+Pr
U= ) *Bj+Bc = 332.187 (kN)
( )
Pf+2 « Pr
= — = 0.737 (m)
3« (Pf+Pr)
Bj : Bj = 1.500 (m)
Bc : Bc = 21.400 (m)
9.2.2
1
N = E(QHQZ) +L-B
_ 2-+qltq2
3+ (ql+q2)
ql :
g2 :

L - L= 1.500 (m)
: B = 21.400 (m)

FORUMS8
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[1] Hi( )
862. 719 ‘ (kN/m’)
ql q2
1071.818 862.719
71.818
13. 400 N (KN) X (m) H (kN) Y (m)
31049.328 0.777 22538.770 -0.900
[2] H( )
847. 045 ‘ (kN/m)
gl g2
1061.663 847.045
61. 663
1. 400 N (kN) X (m) H (kN) Y (m)
30634.771 0.778 22604 .008 -0.900
9.2.3
[1] Hi( )
N; H: Xi Y: M :Mxi+Myi
(kN) (kN) (m) (m (kN.m)
-1415.610 0.000 0.750 0.000 -1061.708
31049.328 | 22538.770 0.777 -0.900 3841.113
29633.719 | 22538.770 2779.406
1384.753 1053.214 129.879
[2] Hi( )
Ni Hi Xi Y: M :Mxi+Myi
(kN) (kN) (m) (m) (kN.m)
-1415.610 0.000 0.750 0.000 -1061.708
332.187 0.000 0.737 0.000 244.739
30634.771 | 22604.008 0.778 -0.900 3493.625
29551.348 | 22604.008 2676.656
1380.904 1056.262 125.077

FORUMS8
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9.2.4
@
+ @
1’ (=1
= [BAZ : mm]
T m
(cm) (cm’/ ) (cm®)
l PR -
2 - N
1 10.0 D22 3.871 4.00 15.484
2" | — | —
@
M Me
( ) x 1.7 (kNMm) (kmym)
(cm?) (KN.m) (KN.m) . . (cm?)
1( ) 15.484 220.794 1033.386 129.879 869.141 5.000
1( ) 15.484 212.632 1033.386 125.077 869.141 5.000
1.7 5.0
= 5.0
9.3
0.900 (m)
P
1
F ‘
‘900 [ AL : mm]

FORUMS8
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9.3.1

€Y)

@

[2]

9.3.2

11(
1)

gl :

W=y V= 24.500 x 23.112 = 566.244 (kN)
X = 0.300 (m)
)
Hf = 1.000 (m)
Hr = 2.000 (m)
Pf = 9.800 (N/mm?)
Pr = 10.239 (N/mm?)
Pf+Pr .
= 5 *Bj+Bc = 128.649 (kN)
( )
Pf+2 « Pr
= - " = 0.298 (m)
3« (Pf+Pr)
Bj : Bj = 0.600 (m)
Bc : Bc = 21.400 (m)

1
E(QHQZ) LB

2+ ql+g2
3+ (ql+q2)

L= 0.600 (m)
B = 21.400 (m)

FORUMS8
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[1] Hi( )
988.179 (kN/mZ)
L ” N (kN) X (m)
1071.818 988.179 13225.180 0.304
Q071. 818
13. 400
[2] H( )
975.816 (kN/mz)
o 2 N (kN) X (m)
1061.663 975.816 13080.616 0.304
061. 663
13. 400
9.3.3
[1] Hi( )
Ni Xi M=Ni Xi
(kN) (m) (kN.m)
-566.244 0.300 -169.873
13225.180 0.304 4021.251
12658.936 3851.377
591.539 179.971
[2] Hi( )
N: Xi M=Ni X
(kN) (m) (kN.m)
-566.244 0.300 -169.873
128.649 0.298 38.313
13080.616 0.304 3979.299
12643.021 3847.739
590.795 179.801
9.3.4
0.900 (m)

FORUMS8
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€Y)
)

Ps = Ss+Sc

Sc=Cc Ce Cpt Cdc tc b d

Awe g4+ d+ (sinf+cos @)

Ss = + Cds
1.15 + s
Ps : N)
Sc : Q)
Ss : ()
T C: (N/mm?), T ¢ = 0.350
Cc : , Cc=1.0
Ce : d
d(mm) | 300 1,000 3,000 5,000 10,000
Ce 1.4 1.0 0.7 0.6 0.5
Cpt: Pt ( )
PE(%) 0.1 0.2 0.3 0.5 |[1.0
Cpt 0.7 0.9 1.0 1.2 1.5
Cdc:
a/d 0.5 1.0 1.5 2.0 2.5
Cdc 6.4 4.0 2.5 1.6 1.0
Cds:
b : (cm), b = 100.0
d: (cm), d = 170.0
Aw : s 0 (cm?)
O - .(N/mm*), o sy = 345.00
S : (mm), s =20
6 : ( ),06 =90
( ) M 2.5 d a
(kN.m) n
1( ) 179.971 425.000 > 77.831
1( ) 179.801 425.000 > 77.899
Sc Ss
( ) S Ps
d (cm) (kN (kN (kN (kN Ce |cpt |cCdc | cCds
1( ) 170.000 2324.927 0.000 591.539 2324.927 |0.89|0.68 | 6.40 | 0.18
1( ) 170.000 2324927 0.000 590.795 2324.927 |0.89|0.68 | 6.40 | 0.18

FORUMS8
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10
10.1
10.1.1
@
5 500
E& = 700
5 500
@
ock = 24.00 (N/mm*)
oSy = 345.00 (N/mm?)
® = 35.00 ( )
Qres = 35.00 ( )
@ peak= 50.00 ( )
) 11.667
1) 0.000
o res 0.000
o peak 0.000
ycs= 24.500 (kN/m*)
ys = 20.000 (kN/m%)
(©))
q
KN/ Ka
10.000 0.50000
0.000 0.50000
Kh = 0.200

[BEAZ : mm]

FORUMS8
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Kh = 0.160
%) (N/mm?)
O Ca O Sa T al T a2
8.00 180.00 0.23 1.70
12.00 300.00 0.35 2.55
10.1.2
(Ld
1
[1]
SD
AW Sd = il 69, 797 (kN/m)
SD = Pd = Pd1+Pd2 = 368.760 (kN)
197
Pdl = g+ (h3-12 + +Ka - cosd
2+n
= 80.571 (kN)
1 h3 - 122 1923
Pd2 = — + ys+ |h3t- 12+ + *Ka+cosé
2 n 3 en?
= 288. 188 (kN)
N MD
EH%—%V%Mdzizzlﬁjm (kN. m/m)
MD = Pd « 1d = Pd1+Pd2 = 619.002 (kN m)
h3 - 122 12°
Pdl = q« |[——+ *Ka -+ cos 0
2 6°*n
= 164. 995 (kN. m)
1 h3t+ 12" h3 - 12° 12!
Pd2 = —»+ ys- + + «Ka
2 2 3en 12 +n®
= 454, 007 (kN. m)
[2]
Sd = 55.697 (kN/m)
Md = 87.745 (kN.m/m)

cos 0

FORUMS8
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2)
SD
H A Sd = —
W7 77 i
= 10. 682 (kN/m)
197
SDh = (hS- 19+ )- td+ yc -+ Kh
2+n
= 56. 438 (kN)
MD
FE—A F Md = —
f k ”
= 21.875 (kN. m/m)
h3 - 122 12°
MD = ( + ) «td- yc-Kh
2 6+*n
= 115.574 (kN. m)
h3 : (m) , h3 = 0.700
h4 : (m) , h4 = 5.283
12 : ©) , 12 = 5.500
,n = 1.200
N =n
td : (m) , td = 0.700
q : (kN/m?)
q = ( : 10.000 |, : 0.000)
Ka :
Ka = ( : 0.50000 |, : 0.50000)
o )
5 =¢( : 11.667 - 0.000)
y s: (kN/m*) ,y s = 20.000
y c: (kN/m*) ,y c = 24.500
Kh : , Kh = 0.200
M S
(KN.m) (kN)
117.161 | 69.797
q 87.745 | 55.697
21.875 | 10.682
109.620 | 66.380

FORUMS8
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10.1.3
@
1)d
Ml
1 2
[B{Z : mm]
A Ml
(cm) (cm’/ ) (cm?)
1 10.0 D22 3.871 4.00 15.484
2 - N
| — | —
| — | —
@
N
Mc = Zc (O—bd_A_c)
M (N.mm)
Z; (mm®), Z. = b h/6 = 81666.7x 10°
O o (N/mm?), G o = 0.230 °
O (N/mmz), O« = 24.00
N (N), N=0.0
A (mm®), A. = b h = 700000.000
b (mm)
h (mm), h = 700.000
M M.
x 1.7
(cm®) (kN.m) (kN.m) (cm®)
d 15.484 199.174 > 156.284 7.648
15.484 186.354 > 156.284 7.648
1.7

5.0

5.0

FORUMS8
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©))
« )
2+n , ,
X {As’ + (x=d")#As + (x=d) }=0.0
L 0x%ERD D,
M
[ ) ’
bex [h x o Gd) - (h/2-d) (x=d) + (h/2-d)
s (=== ]+n + AS” - n e As
2 2 3 ) X X
d—x
O — N Oc¢*
X
X (mm)
h (mm), h = 700.000
b (mm), b = 1000.000
d (mm)
o (mm)
As : (mm?)
As": (mm?)
n : , h=15.00
e : (mm)
CC: (N/mm?)
o s: (N/mm?)
Mo (N.mm)
M X (N/mm?*) (N/mm?)
(kN.m) (cm)
d 117.161 14.533 2.923 8.000 137.186 180.000
109.620 14.533 2.735 12.000 128.356 300.000

FORUMS8
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®
Sh
Tha = = T al
+d
T (N/mm?)
Sh )
d (mm)
b (mm)
T (N/mm?)
a =0 Cpt T 4"
at (N/mm?)
Ce
d(mm) 300 1,000 3,000 5,000 10,000
Ce 1.4 1.0 0.7 0.6 0.5
Cpt: Pt (
PL(%) 0.1 0.2 0.3 0.5 |1.0
Cpt 0.7 0.9 1.0 1.2 1.5
(N/mm?)
Si(kN) d (cm) 1 T o T | Ce |Cpt
69.797 60.000 0.116 0.271 1.700 1.23 |1 0.96
66.380 60.000 0.111 0.412 2.550 1.23 |1 0.96
10.2
10.2.1
@

FORUMS8
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5500

5283
=%

700

4 583

X = 700
5 500
@
ock = 24.00 (N/mm*)
osy = 345.00 (N/mm?)

® = 35.00 ( )
Qres = 35.00 ( )
@ peak= 50.00 ( )

) 11.667

1) 0.000

o res 0.000

o peak 0.000

yc= 24.500 (kN/m*)
ys=  20.000 (kN/m%)
(©))
q
KN/ Ka
10.000 0.50000
0.000 0.50000
Kh = 0.200
Kh = 0.160

[BEAZ : mm]

FORUMS8
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%) (N/mm?)
O Ca O Sa T al T a2
8.00 180.00 0.23 1.70
12.00 300.00 0.35 2.55
10.2.2
(Ld
1
[1]
SD
AW Sd = v 69. 797 (kN/m)
SD = Pd = Pd1+Pd2 = 368.760 (kN)
197
Pdl = g+ (h3-12 + +Ka - cosd
2+n
= 80.571 (kN)
1 h3 - 122 123
Pd2 = — + ys+ |h3t- 12+ + ~| *Ka -+ cosd
2 n 3+n
= 288. 188 (kN)
. MD
%H%—xbed:EZ:1NJm (kN. m/m)

MD = Pd + 1d = Pd1+Pd2 = 619. 002 (kN.m)

h3 - 128 12°
Pdl = q« |[——+ *Ka -+ cos 0
2 6*n
= 164. 995 (kN. m)
1 h3% - 122 h3 - 12° 12
Pd2 = —+ ys- + + *Ka - cos o
2 2 3en 12 <1’
= 454. 007 (kN. m)
[2]
Sd = 55.697 (KN/m)
Md = 87.745 (KN.m/m)

FORUMS8
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2)
SD
H A Sd = —
W7 77 i
= 10. 682 (kN/m)
197
SDh = (hS- 19+ )- td+ yc -+ Kh
2+n
= 56. 438 (kN)
MD
FE—A F Md = —
f k ”
= 21.875 (kN. m/m)
h3 - 122 12°
MD = ( + ) «td- yc-Kh
2 6+*n
= 115.574 (kN. m)
h3 : (m) , h3 = 0.700
h4 : (m) , h4 = 5.283
12 : ©) , 12 = 5.500
,n = 1.200
N =n
td : (m) , td = 0.700
q : (kN/m?)
q = ( : 10.000 |, : 0.000)
Ka :
Ka = ( : 0.50000 |, : 0.50000)
o )
5 =¢( : 11.667 - 0.000)
y s: (kN/m*) ,y s = 20.000
y c: (kN/m*) ,y c = 24.500
Kh : , Kh = 0.200
M S
(KN.m) (kN)
117.161 | 69.797
q 87.745 | 55.697
21.875 | 10.682
109.620 | 66.380

FORUMS8
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10.2.3
@
1)d
Ml
1 2
[B{Z : mm]
A Ml
(cm) (cm’/ ) (cm?)
1 10.0 D22 3.871 4.00 15.484
2 - N
| — | —
| — | —
@
N
Mc = Zc (O—bd_A_c)
M. (N.mm)
Z; (mm®), Z. = b h/6 = 81666.7x 10°
O o (N/mm?), G o = 0.230 °
O (N/mmz), O« = 24.00
N (N), N=0.0
A (mm®), A. = b h = 700000.000
b (mm)
h (mm), h = 700.000
M M.
x 1.7
(cm®) (kN.m) (kN.m) (cm®)
d 15.484 199.174 > 156.284 7.648
15.484 186.354 > 156.284 7.648
1.7

5.0

5.0

FORUMS8
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©))
« )
2+n , ,
X {As’ + (x=d")#As + (x=d) }=0.0
L 0x%ERD D,
M
[ ) ’
bex [h x o Gd) - (h/2-d) (x=d) + (h/2-d)
s (=== ]+n + AS” - n e As
2 2 3 ) X X
d—x
O — N Oc¢*
X
X (mm)
h (mm), h = 700.000
b (mm), b = 1000.000
d (mm)
o (mm)
As : (mm?)
As": (mm?)
n : , h=15.00
e : (mm)
CC: (N/mm?)
o s: (N/mm?)
Mo (N.mm)
M X (N/mm?*) (N/mm?)
(kN.m) (cm)
d 117.161 14.533 2.923 8.000 137.186 180.000
109.620 14.533 2.735 12.000 128.356 300.000

FORUMS8
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®
Sh
Tha = = T al
b-d
T, (N/mm?)
Sh )
d (mm)
b (mm)
T (N/mm?)
a =0 Cpt T 4"
a” (N/mm®)
Ce
d(mm) | 300 1,000 3,000 5,000 10,000
Ce 1.4 1.0 0.7 0.6 0.5
Cpt: Pt (
Pt(%) 0.1 0.2 0.3 0.5 |1.0
Cpt 0.7 0.9 1.0 1.2 1.5
(N/mm?)
Si(kN) d (cm) 1 T o T | Ce |Cpt
69.797 60.000 0.116 0.271 1.700 1.23 1 0.96
66.380 60.000 0.111 0.412 2.550 1.23 1 0.96

FORUMS8
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11

11.1

M = MD+ML = 31.498+76.781 = 108.279 (KN.m/m)

1
WD = (H1#W2+q) - 17 = 51,498 (kN.m/m)

1 1 ,
ML = - L -(O.2+2d)—E;WL - (0. 2+2d) "

= 76.781  (KN.m/m)

MD: (kN.m/m)
ML: (kN_.m/m)
T (KN/m?), W, = hyx y , = 5.625
W, : (KN/m?), W, = hx y , = 14.945
h, : (m), h; = 0.250
Y1 (kN/m?), y 1+ = 22.500
h, : (kN/m*), h, = 0.610
Y 2o (kKN/m*), y . = 24.500
q: (kN/m»), q = 0.000
d (m), d = 0.250
h : (m), h = 0.610
L : (m)

L = 5.000 0.700 = 3.500
wL: (kN/m?)

BOL [
bl__& %Ej]fyliflw& = Q 5117517V1w&
0. 2424 |

L | masER )
0. 2424 2. 75
2T~ (1+1)
Wl = = 135. 065

2.75 + (0.2+2d)

T -7 (k\), T = 100.000
i , 1 =0.300
a , o =1.031

FORUMS8
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11.2
@

@

(mm) (mm) (cm’/ ) (cm?)
l - - N
2 - - N
1 100 125 D16 1.986 8.00 15.888
2| — — —

h = 0.610 (m)
(N/mm?) (N/mm°)
oc O oS O =
3.476 < 8.000 146.446 < 180.000

FORUMS8
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